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Correct Marks : 1 Wrong Marks : 0
Identify the correct definitions for the following given phrases respectively:
Taxon, Lead. Couplet, Monograph, Botanical garden
A. Contam mformation of one taxon.

B. Each statement in the ‘key’.

e

Collection of living plants for reference.

>

Represent a unit of classification.

e

Contrasting characters in a pair.

B0 VTP DOWONS DAGEISD SEOP FIgols.
ey, O6, 3060, IPSTPD, SET°RY GLI°gSSTTe
A A 88 S0P oS DSTPFTE) $O fHolow.
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Options :
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Question Number : 2 Question Id : 7196501602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
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Based on the following characters identify the organisms respectively
— Cell wall with pseudomurein

— Cell wall with mucopeptide

— Marine bioluminescence

— Cell wall made of protem rich pellicle and found in stagnant water

BES BN OEEPL SETPErP 2905 SERIP BQoS0.

— OPESIPIOS Ko KRS

— SrgEIRE S0 SadSuIsm

— 250¢5 02005008 85050 Sewrdo

— DOIS 85 D Ko ERESS0 KO DO &), S’ DENOBVOR.

Options :

Methanogens. Bacillus, Noctiluca, Euglena

NSS B, 8PV, D°Ferrsys?, ARG

R
Bacillus, Methanogens, Noctiluca, Euglena
" 2PV, DS B, DPSeyS?, QI
) = & =
Noctiluca, Euglena. Methanogens, Bacillus
) Degenryss, QWRHT?, OGS B, AP
3, .
Euglena, Noctiluca, Bacillus, Methanogens
QU TP$erg 57, BP0, SNDS Bedd
4% )

Question Number : 3 Question Id : 7196501603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes [s Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List-I List-II
A) Camerarins I) Conduction of water through xylem
B) Hales IT) Phylogenetic classification

) Father of botany III) Sexual reproduction

D) Bessy IV)  Historia plantarun

REe-1 eI
A) =8Oy ) iy omyos 98 oode
B) s, I SO0 $658e
C) SHdwyy S ) ©ohs gt S
D) 3%y IV) &¥ooir Frotrts

The correct match is
OGS 2

Options :

A B & D
e o I IV II

A B C D
II I I IV

2 R
A B - D
III I IV I
3. ¢
A B C D
II I II1 1A%
4. %

Question Number : 4 Question Id : 7196501604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the ploidy of endosperms in gymnosperms.

D35 YBRFOS" BBBTY 50 ) B’ &obolS K00S0,

Options :
Triploid
L, SN
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Tetraploid
EVBEID

Haploid

Lo B

Diploid
ALY

Question Number : 5 Question Id : 7196501605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Pteridophytes are first terrestrial plants to possess vascular tissue.

Reason (R) : Peristomual teeth help in the dispersal of spores in bryophytes.

QBYBSW (A) : ebécff;_ggw TP SEIPLE0D SO ad0iEd SO 005 €.
060 (R) 1 gCIrRen S’ 0508 Ge@PL0 AQENRFL P3RS &8 G SP 0.

The correct option among the followimg 1s

& Sold QYOS DOTVSG
Options :
(A) 1s true, (R) 1s true and (R) is the correct explanation of (A)
(A) 2090038, (R) 00000356 0050 (A) % (R) 008 des.

| #
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) 0090038, (R) 00900358 570 (A) X0 (R) 008 0d8es 5o,
2. ¢
(A) 1s true but (R) 1s false
. (A) D00NIR 3 (R) 000008 .
(A) 1s false but (R) 1s true
(o (A) 3000030 526 520 (R) 00000058,

Question Number : 6 Question Id : 7196501606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statements.

A) Flower 1s modified shoot. but intermodes do not elongate as axis get condensed.

B) Unisexual, bisexual and neuter flowers are centripetally arranged in members
of Compositae.

) In Striga a stem partial parasite, the haustorial roots will developed upto xylem
of host plant.

D) The petiole helps in exposing lamina to light and also for flexible nature.

E) All sub-aerial stem modifications are useful for vegetative propagation.

OGN TPgaPFO (OS0!

A) RS0 FPots SrraredBain, 52 $8i5) S0edgalren Ftied) 08 ©@Xo Hoodedeiod.
B) 8odresdd ) o, DESE, & RDotiE, Sotdga)al )N SofiPelPOolP @0 aetTPOuw.
C) DIOUT LW FoliaPEE DO BTV TPFOONS I ©BB0W TPERHEE

SRAIRT AV eV
D)  DOSyB80, HEGWR) Fod YZENP OI0LH HO0 SHS V3o §O
GoCit T8 DFOD0 BX0d.
E) &darafuiied sPotre) Coraredoren @) P500 argd)s & G yEarow.
Options :
A. B. C only
. AB.Cargd

A.D. E only

A. D, E Sorgdao
2. =

B. C.D only
.« B.C.D3rgd

C.D. E only

C.D. E &0
4 %

Question Number : 7 Question Id : 7196501607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

ListI List IT
A) Presence of eyes on stem I)  Asparagus
B) Presence of scale leaves on the stem II) Garlic
C) The roots originate from the base of the stem IIT) Solamum tuberosum

and become swollen due to storage food

D) Fleshy leaves storing foods IV) Zingiber

=EEARSALIAE L e T
DS 1 D11

A) ol E509 Sold VTP I) &0y O S0

B) 5P0laSng FeorSoen af)oliddd ) S0

C) SPalan Qe &rtio ool IG 5 NG &858 00 ) rerdad dusgard el

QOO &2NS0W.
D) Sk HSPen o QOIWFON IV) 022206

The correct match 1s

DO &5
Options :
A B C D
I1I IT I A%
| ®
A B = D
II I11 I IV
2 &
A B € D
ITI II 1A% I
3. %
A B C D
- I IV I II

Question Number : 8 Question Id : 7196501608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the mcorrect statements among the following.

A)
B)
C)
D)

In rice, the pericarp and the seed coat are free and protect the seed.
In Rutaceae. the juicy succulent placental hairs of endocarp are edible.
The corolla in Ocinuan 1s bilipped, whereas Datura it 1s funnel shaped.

Underground stem modification only store food material.

B0 TPRZLS” DO TR (QeuddSD.

A)
B)
C)

D)

350 Solid DOEBIRS0, 2235550 DETPaSobs VBTV SXes EO0R.
B3I Jol 9089 DOESIHVS0 Blego &) O0eS0D ST 330D,
&aDo 3003 Tolld DWHLITP DGEdSG, PP Sotdd (HOPEW 5o &80 DBNP

a3)oCIPOW.
Grare@do Woldd alPtis)5Potie ) S0P &80 HWRTPURD JLIWPOW.

Options :

3.¢

A. B only
A, B Srgd

B. C only
B, C Joeghd

A. D only
A, D Sorgad

C. D only
C, D g

Question Number : 9 Question 1d : 7196501609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List] List IT List 11T
A) Diploid organism 1) Zygote I) Bisexual
B) Monoecious plant 1)  Meiocytes IT) Fusion of gametes
C) Contimuty of generation 1) Maize IIT) Haploid gametes
D) Offspring not identical 1v)  Sexual IV) One generation to the
reproductivity next
88 508 PUTPOD BBHGWS.
| ereIee 11 g 111
A)  DI0NBE eaHen 1) Do00EeIz50 D &3Detibo
B) &3Darrdon gy 1)  DoOI@H M) NoGirdedere Sond
202303779 ) BEoe )
C) odieNIB00Ge Gote Dotdolo  1i1) 0% 8"y, I11) b§@@§ DoCirtiedezeen
D) S NeEPDP 1V)  GoNE JgiNd  IV)  a¥ Blo Do) Boared
o)oteas) SGoX

The correct match 1s

OGS 239
Options :
A B & D
i, 11T ut, I 1, IV w, II
LA
A B C
1, I 1, IV v, I1 1, IIT
A B K- D
, LIl 1. I 1. 11 w, IV
. &
A B G D
L VIVOOELI T LI

Question Number : 10 Question Id : 7196501610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
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Assertion (A) : In angiosperms, the outer layer exime of pollen grain 1s made up of
sporopollenin.
Reason (R)  : The inner intine layer carries two male gametes to the vicinity of the

egg cell and central cell of the female gametophyte.

BB (A) 1 8yedessy) HOHTEVDES V3D WO TS WY TFOIDES’
D050,

506350 (R) : Bogdo 8 @ 0° Toth )80 20z5ERe0 09 DoCirtiedestiednsS ' Q9 8JessEsssn
0050 &IBODIAIESD S DETOLRIEID.

The correct option among the followmg 1s
& Sold QYT DOGDIH
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 5690038, (R) H0BONSE 50050 (A) % (R) $0 D8Se.

. ®

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) D00IR), (R) 000000 2R (A) 30 (R) 000 888 s°e0.
2V

(A) 1s true but (R) 1s false
(A) 300038 52X (R) 0090038 5°WN.

3. -

(A) 1s false but (R) 1s true
(A) 000056 320 5 (R) 000I&.

4. %

Question Number : 11 Question Id : 7196501611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A): Removal of anthers from a bisexual flower before anther dehiscence 1s
called “emasculation”.

Reason (R): Emasculation prevents the self-pollination mn a bisexual flower.

BB (A) 1 B3t DY DS FPLD 05208 DTE 2S00t SHTPOD &5 LMowioD
* D3)oREGEISN” ot
0650 (R) 1 DX0EGE80 TPR0° B0t P YOS €985 D050 500 O BotSenio.

The correct option among the following 1s
&t S0l DTS VOGNS

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)
(A) 0020038, (R) 000056 0030 (A) %0 (R) 008 dsddes.

1. ¢
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation of (A)
. (A) 00900358, (R) 0000038 520 (A) 0 (R) 00 D583 5°¢0.
i
(A) 1s true but (R) 1s false
. (A) V00IR R (R) 0000038 PR,
(A) 1s false but (R) 1s true
. (A) 300WIR W 3 (R) 00000058.
4.

Question Number : 12 Question Id : 7196501612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statement regarding plant classification.

A)
B)
C)

D)
E)

Total number of cohorts in the classification of Bentham and Hooker are 26.
Linnaeus has given importance to the vegetative characters.

Latest theory of plant classification is based on the floral characters and
phylogenetic system.

In floral diagram, bract is present on the anterior side of the flower.

The study of diversity. history of plant and its evolutionary relationship is called

plant systematics.

S5 3% SOEGES Vo2oBod OGRS FPgAPILD (VYo

A)
B)
C)
D)
E)

Options :

23oa®a, TVEO SO8GRS Swde SIrdL Dowg 26.

O3y AR FSOW LETTFOR FEPIge FWND.

SOOF 30808 i)%ﬁ“oﬁﬁam 20)oQ ) OETFON, TP SOITIINR SFPOEHS) O.

DR D0l 3R Y)W YN POFeBBN S aobNol.

WSO JAEPIV), WOBW, AFHO N DOEFN VooTPUN @O0
WONErRY SwsH o b@uﬁ)‘dﬁéb @ocrdl.

A. B, C only

A, B, C Sr8d
|, *
A, C. E only
: i A, C, E Segd
B.D. E only
B. D, E 5°¢8d
3. ¢ -
A. D, E only
A, D, E &g
4. %

Question Number : 13 Question Id : 7196501613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List I List II List ITI
A) Flame of the forest 1) Spice. berry I) Colchicum
B) Protogynous 11) Yellow dye IT) Derris

C)  Unilocular ovary 111) Odd sepal anterior III) Butea
D) Zygomorphic 1V) Corm IV) Capsicum

&3 S0 FR)TPOD 2EHDGDSW.

avede | e 11 e 111
A) % ed S >0 ) D008t §Sg0, YDV I) 5D
B) Qmrtddared S i) HK) Sotdd ) &5
C) QSN0 GoGoDSD  1il) 3R SEEHSo Yrorgotsn ) avgdiave
D) rasyisaiuessn V)  Soliel®d IV) seysw

The correct match 1s

DO 285

Options :

A B C D
1, 1T 11, | w, IV 11

A B C D
o I I LIV O
A B C D
o BRI AT IV T
A B & D
Le BRI ELIV LI v I

Question Number : 14 Question Id : 7196501614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Arrange the following in the ascending order of their numerical number.

A) The total number of peripheral fibrils in a centrosome

B) The total number of microtubules in an axoneme of cilium
C) Number of arms in a telocentric chromosome

D) The number of nucleotides in a nucleosome

800 PR VogNTelP &G TE §abdosS” Wb ok,

A) oSN JoBO HOLODH Fdw Jowg.

B) 308 SolO @5 )0 Sl Se MK Dowg.
C) SIS §APFaL ol (L TPTTHO VoD,

D)  afdrgairitad Soth SU Argddlrdie Sowg.

Options :

, CLABD

2,8,D,C

7w

B, A L

3. %

C,A,D,B

Question Number : 15 Question Id : 7196501615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Choose the correct statement

A) All the elements present in a sample of earth crust are also present in a sample of
living tissue.

B) Oils have higher melting points (gingelly oil) and hence remain as oils in winter.

) Proteins act as receptors in various organs.

D) Cellulose, abrin are secondary metabolites which are useful as polymeric

substances.

OGN TP AR (VOUWSN.

A) riLoed &d) oo el v SerTrd” 3P $fotrrow.

B)  SPRw o80S GRS Prrd), $O (e300 SPR) BE500 SPRL TP afolrow.

C)  FED 0L PO TP Err &gedirOrow.

D) Rwgdzm, @i oh Ag8ah  Hdfdrdymryon FOROS  DwrgrouT
€03 (000w,

Options :

A. C only
A, C e

B. D only

B, D Srgi

A. B only
A.B S

C, D only
C.D S~

Question Number : 16 Question Id : 7196501616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Meiosis is characterized by which of the following?

S8 S0l TIPS QR wrgor K000 DaSeSa (000w y?
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Options :

Two nuclear divisions and chromosomes dividing twice

Soll) So¥ Qafasden OGN TPl § 3 e Dez3Ie

Two nuclear divisions with chromosomes dividing one time

S0l §oé§ Dswes” alrd g‘"‘wﬁﬁﬁ:v FPALSAN]

Two nuclear divisions with chromosomes dividing four times

Soti) S0 RefaSues”, TPOXPY) §IPFRY DEESN

One nuclear division with chromosome dividing one time

208 S0l Dafazded” s § el el Qafascd

Question Number : 17 Question Id : 7196501617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Conjoint, open and endarch type of vascular bundles are common in which of the

following?

QoOINE, DY SOOI ©oBTINWNW AOING FTPPTR0ePL FEIC P ST a)obPon?

Options :
Dicot root

& 566@’3533 5e%

Monocot root

&S I

[
®

Dicot stem

ANARLRSETPY
1V

Monocot stem
L S ot

Question Number : 18 Question Id : 7196501618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

collegedunia:s

India’s largest Student Review Platform




Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Secondary phloem 1s produced more than secondary xylem and forms a
compact mass in dicot stem.

Reason (R) : The cambium is generally more active on the inner side than outer side.

QB B (A) 1 HYEFRe oS’ HIBON wedda) ) HIBON FAETFULD )0y SrP
5 Y CB008 SHOAEN 2BOTP Gottd 006 S0t ETPPL WIS YEETOw.

0850 (R) : Ferleiorr Deragitrd? $0030 Jdd QT SLO IV ¥y S
$Hotod.

The correct option among the following 1s

& $o& DDYFOS LOGRSE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A).
(A) 20803, (R) D008 605N (A) ¥ (R) 108 280¢.

1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A).
- (A) LooWI&, (R) SoonSL ° (A) 50 (R) 008 2808 so.
(A) 1s true but (R) 1s false.
(A) D00d& R (R) 0oL oK.
3. %
(A) 1s false but (R) 1s true.
p (A) J0ONI& A 2 (R) DoOowSb.
4. %

Question Number : 19 Question Id : 7196501619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gcollegeduniaa

T



Identify the plants respectively based on the characters.

I) Roots fixed with mud with long petiole.

II) Lives partly in water and partly in air.

II)  Annual, found in dry zones, complete its life cycle within short period.
IV)  Root hawrs and caps are well developed.

A) Typha B) Tribulus O) Casuarina
D) Victoria regia E) Hvdrilla

OEEPO BP0 SO 63005 O (W0,

) S5 S350 DYES PRBD, FEIS HBS Yo 5O,

I1) FEErP ABS'SP, Lo TPOINIGrP 2sIPow.

III) ¥ arOwen, Hily Fooruds HENVEFow. ©S ¥y & P’ #OS I

SNBovRBoctTrow.
IV) Sroszon, J00ed e errP @Rl )& Wola)obPow.
A) &I B) Gangew C) 5°2500°
D)  256ale basalle E) aréer
The correct match 1s
OGN 23
Options :
| II 11 AV
" D A B C
| II 111 IV
E £ B A
y w
| 11 111 A%
A E B ¢
3 ®
| II 111 IV
B C A D
4, %
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Question Number : 20 Question Id : 7196501620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List II
A) To produce 180 gr. of glucose I) 1.63gr.0ofCO>
B) Flood protection by plants is II) Supporting services
covered under
C) 1 gr. dry organic matter can fix III) Regulating services

D) Soil formation and crop pollination IV) 677.2 Kcal energy is

1s covered under consumed
&2 S0l DEBEOD wBOGWk:
S| oS 11
A) 180 rr. Gr8'S SOir08 I) 1.63 ge. CO»
B) Q05 o SO0 dardes II) e rdgs vk

C) 1(p. ¥6DoR0HIwCo FosSH 1)  0DoBmre S DS
D) &ySE 8yEd, Houiieddy s IV)  677.2 K Subu $§ 9903rt

The correct match 1s

STeTos PN g o
Options :
A B % D
L, v om 1 I

vo
®
C

A
IV I II III

2.8

=
wy
®
C

In..rJ
®
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Question Number : 21 Question Id : 7196501621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct definitions for the following respectively.
I) Porins 1) Solute potential
III)  Apoplast IV)  Scotoactive stomata
A) open during night and remain closed during day time.

B) lowering of potential due to dissolution of solute.

C) proteins from huge pores in the outer membrane of some bacteria.

D) system of adjacent cell walls that 1s continuous throughout plant body.

806 A8 DO ABFISSNORD VB SER E0eS” (080
) 268w ) oo $5 8w
) ¥y IV) % ¢58s Hhbomren
A) D0 SPR0SR TP SG0EVETON.
B) ooy Sodd) §6 80 SHEL SrD.
C) &) wrfooRr Jewndd Bided 1 HOSTE Sogrwn (o FSD.
D) Sy, R0 Vot R V8 TP WS VD), SEEITL VD Ay )00 IV,

Options :
I II III IAY
m B A C D
I I1 I1I IV
A B D C
7 ®
I II I11 IV
C B D A
3. ¢
I II 11 IAY
C D A B
4, ®
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Question Number : 22 Question Id : 7196501622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The following are the host plants along with the microorganisms which fix atmospheric
nitrogen. Find out their correct match.

I Frankia — Alnus

I1. Rhizobium — Alfalfa
I11. Anabaena — Wheat

IV.  Rhodospirillum — Casuarina

&e S0l W& ziaden o€ ©BRow SN¥) 0" IHe FROS DA, TPE LGN EOowED
(3080udosw.

L. FoSal® — @)V

. S&aabad —weryery

M. e — e

IV. J0&D900ad — 5%230:°

Options :
I and II only

I 0005w I Sreghadd

I and III only

I 506050 IT Argdd

2. =

IT and III only

IT 0008w T Soegdan

IT and IV only

IT 2605w IV Segan

Question Number : 23 Question Id : 7196501623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:
List-1
A. Oxidoreductases

B. Isomerases

C. Ligases
D. Lyases
&2 8ol 2PRNTUN 2BROLWNN.

erede-1

A @8 EOEEBOW

B. 230080

C. SrrEow

D. odDh3ow

The correct match 1s

SO 2
Options :

A B C
« 3 I I

A B s

111 IV II
2. %

A B -
Ve 111 I

A B L

V III I
4, ®

II

List-II
Linking 2 compounds
Removes groups from substrates
Interconversion of 1somers
Dehydrogenation

Oxidation

segdee-11
Soled 0e0y FTPO S0
TSR AL NN T g Vi €) NVEDESIISIRVINY
20000 ©oTSTPE0Y WOV
G Ceasdnm wig
e5y50¢es WO
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Question Number : 24 Question Id : 7196501624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List IT List ITT
A) Antenna 1) No ATP or NADPH 1) PSI
synthesis
B) Reaction centre 11)  Algal photosynthesis II)  Release of CO,
C) Radioactive **C  ii1) Absorb different III) LHC

wavelength of light

D) Wasteful process 1v) Chlorophyll @ absorption IV) 3 Carbon organic

acid
& S08 2PLITPLN RSHDGTLOW.
e | e 1 ez 111
A)  olaey i) ATP &% NADPH %oges I)  PSI
SN
B) Sorg So@ein 1) Fdeorw S0eesg00driisol ) CO, deose
C) SSanrdyid ad) 1) 0 S0l 0B III) LHC
HC 5G5S0 CREIRVNG
D) QBHSIPHR0S V) §EIS a $°8e0 IV)  3-885 dobo®
wdg TR
The correct match 1s
LOTNA 23
Options :
A B E D
i i, 1T 1. 1 1, IV 1, II

A B C D
u, I .1 1, IV w, 11

2. %
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Question Number : 25 Question Id : 7196501625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A.

m o N w

The mesophyll and bundle sheath cells of leaves in C4 plants lack RUBISCO.
Cyclic phosphorylation 1s additional source of ATP required for chloroplast activity.
Dark reaction of photosynthesis is also light dependent.

Engelmann observed PS under split light conditions.

Water evolving complex 1s associated with PS II towards outer side of membrane.

OGS T°gar gL (WOoSW.

E.

A Cs 308 BT DSPetd Stren 00K oSt Srwd” RUBISCO &olid.

B. &0 Stwahv s20gEurarus @lcdor sPdos ATPOK K0S ¥ )00Qm durudy.
C.

D. 2ofi5en WOE 50 wEmro @eoe $8823Ig000ar (35000 (e oRed.

Qe 0B Wogw Sre® 0D b STrdDE ofobTow.

Q& DWYES VofRo, PS II &° Sguio SDO Jrr §ré sdotwol.

Options :

A, B. C only
A, B. C &g

B. C. E only
B, C. E &g

A, C.Donly
A, C.D el
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B. C, D only
B, C.D Srg

4.

Question Number : 26 Question Id : 7196501626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following sequences in order of their activity in the electron transport system
of oxidative phosphorylation.

A) Cytochrome C transfer e between complex IIT and complex IV.

B) Ubiquinone 1s oxidised to reach electrons to cytochrome be; complex.

O) Oxidation of NADH at complex I, electrons are transferred to ubiquinone.

D) Complex IV refers to copper containing cytochromes.

E) Cytochrome c 1s attached at outer surface of inner membrane of mitochondria and

receives the e~ from cytochrome be;.

QRS BRYS TV Erdorr w550 FF)O00RS Il U DUFIR e SgS0 SR IV

WO 208 Eadoo” esluyw.

A) S C Jefnasn III IV © iy 200 edugrge Satr ol

B) U9 TS0 ber Do Wi )erds alndsis'e e8yEdn wothduob.

C) D08 I &% NADH w8506 Wol, Jusrahd Qinedsgs’ K 20bO whHerow.

D) 08050 IV @0l 506 $O3 pe'sS.

E)  &eefalr SO0 Sido JLdorr 580 ¢ 0%y 780 bep ol
CEENVEQEVCIRIA VR

Options :

ABCED

C.B. EAD

v

LB D AE

A; B, B, C

Question Number : 27 Question Id : 7196501627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In muscle cells, when O; 1s inadequate for cellular respiration. lactic acid

1s produced. In yeast, pyruvic acid 1s converted to CO; and ethanol.

Reason (R) : Yeast cells will die by the concentration of 13% of alcohol.

DBYSSW (A) : Kot S’ Sade (000K 2 S 28 ESRE LrEE esiio D8 M.
& oo’ pUral walde, CO, OGN BET-STF a8 yetoduod.
w0 (R) @ ésfeg S’ o) IFS PG 13 o WO o Ldtirow.

The correct option among the following 1s

&2 S0l QYOS VOGS
Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)
(A) D0OWIR, (R) D000 OG5 (A) 50 (R) 005 wkde.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) 560038, (R) $000wsd £ (A) K (R) ¥ 25860 6.

(A) 1s true but (R) 1s false
(A) D0ONSE 2R (R) ROowI& °.

(A) 1s false but (R) 1s true
(A) Q0oNIR W R (R) DO00Sk.

Question Number : 28 Question Id : 7196501628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most commonly found natural auxin among the plants is:

S0 OS ol VSIS WSyw:
Options :

24-D

|, %
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[IAA

i 4
Kinetin
§c§’)¢35
7 &%
NAA
4 R

Question Number : 29 Question Id : 7196501629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the list-I with disease causing taxa in list-II:

A)
B)
C)
D)

DB T & &) PgBeS’, DEETL e* &) g6 Do¥om Erseyes® wBHG B,

A)
B)
C)
D)

List-I
Typhoid
Syphilis
Botulism

Tuberculosis

28" engDzzan

d&dgﬁdS&%@ﬁ e

The correct match 1s

2OGeS 29

Options :

I1I

1. %

B

V A%

C

D)

IT)
III)

IV)

V)

I)
1)
1)

IV)

¥)

II

List-II
Treponema
Clostridium
Salmonella
Mycobacterium

Neisseria

ST
&0
Sapeabo
PG
DS ardoa 0
9600
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o B I\
A B € =3
m v O V
3 R
A B * D
m 1 I IV
4, %

Question Number : 30 Question Id : 7196501630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct words (A. B. C, D) related to the given sentences below:
— The phage tail fibres attachment to bacterial wall
— Condition which remain in the host without any disease symptoms
— In TMV protein subunit 1s of a single polypeptide with 158 amino acids
— Mad cow disease causing organisms may reach man through beaf and cause
Creutzfeldt - Jakob disease
A) Prion B) Capsomere C) Latent infection

D) Complementary receptor sites

S0l rgarrgsy OO Jwro (A, B, C, D) SG00r (000uolw.

— P °F Fudew 2075005 Edudon ©old DEWNS D

— gl 0¥ 20 BBROW 0TS LOTUo a)oldr TPgd W) L0 WFDHeG® Gols VS

— TMV S0t 0B Féde e00e50%6a0 158 ©9ad” 5607w SO aus al P16

— PG T g Suti B0 2 )i aieio @PYT° SIPSHR WO WSS KO DG-arER 7R

Sot) Dol
A)  QOIPR B)  =¥)0000 C) 0D Dofaieasdn
D)  Qoirls (iard raren
Options :
A,B,.C,D

[ %
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B,C,D,A

o

i}

D. €, 8B.A

P.BAC

4 %

Question Number : 31 Question Id : 7196501631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements.
A. A simgle gene may be related to more than one character is called pleiotropy.
B. A non-functional allele can be considered as dominant allele when an unmodified gene

1s called recessive trait.

2

Genes which code for a pair of contrasting traits are known as alleles.

=

Sahiwal cows of Punjab are the example for selection.

o

Ol T°ga° gL (W OowIW.

w8 28e0g09) WEEIEES )80 5 LETFPLLS” Dotolo SO a)otitr) TVFETSE Wby,
P00 ) Dol 2adged) WoB0L LGP afotadniete) SOIP Gired Olur) DFLNEW 20irde
OVIVP NI Ao S Vil SN IR A

C. 28 2ol SgBT8 XU WIR) Bge)LD CS(TY DEUP Y0 olll.

w

D. 502e5e5D WarareS (FoHew ododd PS8 &trardes.

Options :

A.B. C only
A. B, C drgo

B. C.D only

~ B,C.D argd
A.C.Donly
v A C.Dargd

~

T
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A.B.D only
A, B, D srgo

4. %

Question Number : 32 Question Id : 7196501632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the genetic combination of the progeny. if a hybrid pea plant with round and yvellow

seeds 1s crossed with a pea plant having wrinkled, yellow homozygous seeds.

QR (RoE VOTLEV 080 TP S8 L SWEWSW DG,

=

&

Options :

Rryy, RrYy, mYy,

| *

RrYy, RRyy, 1mryy,
2.

RRYYy Rryy, mYY,
3. %

KrYY, RrXy mYY,
4.

070 30y e8° Ho¥Go OB BN B3y BFLD PGS,

IT VY
IrYy
IrYy

-

IT Yy

ReR0dN(9) 28 L SO

Question Number : 33 Question Id : 7196501633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform



Assertion (A) : DNA being more stable so it 1s preferred for storage of genetic information,
RNA i1s better for the transfer of genetic information.
Reason (R) : RNA can directly code for protein synthesis and expresses the characters

easily. But DNA i1s dependent on RNA for protein synthesis.

A3)SSW (A) : DNAS 00&f 2050 SO0 Golito $Q 0 2030w do DL WA D,
RNA 2:0g08rwr0 0rartrsS” Sodoia.

200 (R) : RNA SSore gﬁé.fug RoBREIIN  WONALNEr OO L™
$3500NM. 20 DNA el 0036 RNA 2 es5rdDG 0ol

The correct option among the following is
& S0l PRYFOS JOGWSR

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation of (A)

(A) S000IR, (R) 0020038 <H0AW (A) 50 (R) 088 0&06.

4
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
,w (A) D0eondl, (R) L0s0wdt 50 (A) S0 (R) 083 250 s,
(A) 1s true but (R) 1s false
(A) J0oRNSE 2 (R) SOwowlds s°.
3 ®
(A) 1s false but (R) 1s true
" (A) 0oL 0 =R (R) S6wonSk.
4.

Question Number : 34 Question Id : 7196501634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists.

List-1
A. Tumor inducing plasmid
B. Artificial plasmid
C. Amplification of DNA
D. RNA dependent DNA polymerase
&2 508 DEEUD wSOONG:
He3E-1
A &urgedd BotogReh PRy L
B. 5@ raye I1.
C. DNA 24050 I11.
D. RNA w50¢ DNA rO03e 1V,

The correct match 1s

$OGS 2
Options :
A B 3 D
I1 I11 I IV
1.
A B C D
II I IV III
9 #®
A B C D
II IV \% 11
3. %
A B c D
e T ¥ W N

II.

I1I.
IV.

V.

PCR

List-11
PCR

Agrobacterium tumefaciens

PUC 101

Reverse transcriptase

Ethidium bromide

HESEII

T EPO00D dug VD200
PUC 101

ADEOD0 250k
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Question Number : 35 Question Id : 7196501635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the template strand of DNA 1s 3' ATGCATGCATGCATGC 5', identify the sequence
of RNA transcribed.

DNASQ oronwdsn 3' ATGCATGCATGCATGC 5' 90005, @908 @350 wotdsd RNAR
(OoS0s.

Options :

3' UACGUACGUAGCUAGC ¥

| ®

i ' UACGUACGUACGUACG 3'
" 5' AUGCAUGCAUGCAUGC 5'
i 3' AUGCAGCAUGCAUGCG S

Question Number : 36 Question Id : 7196501636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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Arrange the processes of recombination DNA technology in a sequence.
A) Fragmentation of DNA

B) Transfer of rDNA to host

&) Isolation of desired DNA fragment

D) Isolation of DNA

E) Culturing of host cells and extraction

F) Ligation of DNA imto vector

e 0y00iresE DNA FoddE 05 HE0PUSD SE0E800S" 080w,
A)  DNA 2088708 8 6o

B) )0 00drzsd TDNA O sd@ows 20bO Wakiéoo

C) TPowd0N DNA 20ty o8 wolodd

D) DNASD 380 @i

E) WSBOW Serud) Sdo OGN Ay Cea WASwe

F) P58 DNA 2otedy 238908%¢%.

Options :

D, E.CG A BF

1] ®

R DL F B E

DACEBE

3. ¢

DABCEFE

Question Number : 37 Question Id : 7196501637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statements.

A) If any protein encoding gene 1s expressed i a heterologous host then it 1s called
recombinant protein.

B) With the presence of msertional mactivation of the f—galactosidase, the colonies
do not produce any colony 1s called recombinant colonies.

C) The origin of replication sequence act as closing site.

D) Palindromic nucleotide sequence of DNA 1is identified by exonucleases.

OO TP (WCoUIW.
A) OB FES SOTFERON 2Dge) HROD erS0D BSPow TPITT A0VeBoseIted
Q)Y WPAR Q)FzNo0Iress Féde @b,
B) o900 DNA sotioes” B — rrodRcies 92y, 905y E3 Harifen o) Gof Wi
SUSISINVRC)IN DTV RO IN - O SV e VH
O) VB HYS BDT7 B0 Wolkd VLW &0t PR APIWol.
D)  Q§\rgdodw wryoe ardol e Srgdcirda S Sairrwn oQouetiaraw.
Options :
C, D only
C, D S

A.D only
A.D Srgd

B. C only
B, C &g

A. B only
A, B S

4.

Question Number : 38 Question Id : 7196501638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the mncorrect statements among the following:

A) Genetically modified crops have less tolerance to abiotic stress like heat and
drought.

B) The proteins encoded by the genes Cry I Ac, and Cry II Ab control cotton
bollworm, while Cry I Ab control corn stem borer.

C) RNA I takes place 1n all organisms as a method of cellular defence.

D) Hereditary diseases can be treated through gene therapy.

S0l TPAT DOPR TP (0w0NW.

A)  20g STPONGE Dotoand) L0 ©eESl0e0EPO0NN &R0, BTTSYRD GBV) &
SNV,

B) 203 Cry I Ac 2060w Cry II Ab DS$°G wegoe R NG Fedad DT asﬁéavéééa,
Cry T Ab e9035& G008 28" Potio &5"OW 9C1 A0S ol

C) Q) 25)0S” RNA I &t Q8 EES QarSorr 2s800E00l.

D) 23808 WD WPIT® WH0BE PO WSS WADDWDY.

Options :
A. C only
e A, Cadrgad
A, B only
;8 A.B drgan
B. D only
- B, D JrSS
C. D only
- C.D Srg

Question Number : 39 Question Id : 7196501639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Evaluation of new selected lines in breeding is first tested in ideal
conditions 1n research field and later in several locations in farmers’
fields.

Reason (R) : As limited land 1s available for cultivation, increase in yield per unit area

1s a challenge. This led to the green revolution.

BN (A) © S L0 ke G5 OGS HOPBWLS INelT HOES Egrodt
S LG PATL SHw FeruS DOLF.

a0 (R) @ Sdo §o® alran Srrga widB ©oteredns Gotd) SO ORI rtiod
&S B Vovdtuo &l DT, BB TPOS YIS WOSVod.

The correct option among the following 1s

& S0l DRYFPOS DO

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) H080038, (R) H000nse 605 (A) % (R) 588 256,

|, ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

hil (A) S020NI&, (R) D00WIL 2 (A) 0 (R) I0S 2808 .
(A) 1s true but (R) 1s false

- (A) S0oNSE 2 (R) SOouS& s°0.
(A) 1s false but (R) 1s true

. (A) 20oNS& 260 = (R) SoonSk.
4,

Question Number : 40 Question Id : 7196501640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following organisms are used as biocontrol agents?

2S5 QANeE DIFPFEIVNP o) HeHUD T ESE?
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Options :

3.

4,

®

Bacillus thuringiensis and Escherichia coli

2PN 000200y & a)8) O SO

Bacillus thuringiensis and Candida utilis

&Jvn’:)gnﬁ 002500y & 5Potet® AWEIOD

Bacillus thuringiensis and Trichoderma

gavég)nﬁ cii:@owab(&ryﬁ & &5 Z:‘og

Azospirillum and Rhizobium

@a:‘vf?{)a) ;@5}@ & gﬁ’s 2000

Section Id :
Section Number :
Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Zoology

71965033
2

Online
Mandatory
40

40

40

Yes

1
71965033
Yes

Question Number : 41 Question Id : 7196501641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

While defining species the concept of ‘Mendalian population’ was mtroduced by

23 bdsr:)oancﬁ)éo oGOADRD BT 9D 2D @3’9’?&3@0&.

Options :

1.

2.

®

%

Linnaeus

ORNE S

Buffon
m&@%
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Jhon Ray

L w &0
Dobzhansky
e N

4. v &

Question Number : 42 Question Id : 7196501642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Cladistic classification is an evolutionary classification based on
how a common ancestry was shared.
Reason (R) : It summarizes the genetic distances between all species in the

phylogenetic tree.

o3 Be (A) Gyl Socdaronbge o 2aden oder ﬁa&')&ﬁcm_“lcﬂf 2D 20N
S050a SPosN S0500
s0tc (R) : S I080aS wréiu dy o 2y @807 S8 odle g0 &£§

DT Sy Salrd Syl
The correct option among the following 1s
& §ol BRTUS VOTRSS

Options :
Both A and R are true. R 1s correct explanation for A

A 08050 R dz2zo. A 8 R 20 Dd6€3

Both A and R are true. R is not correct explanation for A

A 08030 R Dz2o. A § R D8R D663 S°¢D

A 1s true. But R 1s false

A Q0. 370 R Do 5°¢0

A 1s false. But R 1s true
A Qo 5°¢). 5°0 R Do

Question Number : 43 Question Id : 7196501643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Heparin 1s secreted by

PO Q&Jc@oﬁ
Options :

Plasma cells

PPy SePen
LW

Adipocytes

VAT
2. %

Macrophages

QPL) SIKE e
3.8 7

Mast cells

oSTPR) EEare
4. =

Question Number : 44 Question Id : 7196501644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Vertebrates are deuterostomes

Reason (R) :In these animals blastopore becomes mouth

D3 o (A) : DB OBB Y 0o
560 (R) @ & 20800e5° D2 Gotlo ST SrEIc0d

The correct option among the following is
& S0l DRYFOS HOGLIR
Options :

Both A and R are true. R 1s correct explanation for A
A 208030 R Dzo. A 8 R 285 Daddes

|, %

Both A and R are true. R 1s not correct explanation for A

A 208030 R d220. A 8 R 28 DH6E s°C.

i

~

T
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A 1s true. But R 1s false

A Q0. 570 R dzo 57¢D

3.¢

A 1s false. But R 1s true

A Q2o 570, 5°0 R Q20

4. %

Question Number : 45 Question Id : 7196501645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following:
Mollusc
A Doris
B. Architeuthis
. Pinctada
D. Dentalium
S0l TR 2285 DG
SO
A. &6
B. &8, Jalredv
13 QoSG
D. Godredalo

The correct match 1s

HOGTS 25
Options :
A B
o, I v
A B
o W I

IT.

I1I.
IV.

IT.

I11.
IV.

V.

v

H® g B

Class
Pelecypoda
Gastropoda
Scaphopoda
Apoda
Cephalopoda

oo
O FEP
PY9rGEe
Py IV
QIR
DS FTe

~

T
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- IV \% I I
A B C D
I 1AY | I11
4. %

Question Number : 46 Question Id : 7196501646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following statements:
L Sponges are considered as an evolutionary blind offshoot.

In anthozoans. germ cells are derived from ectoderm.

II.
III.  Prumary function of flame cells of flatworms i1s osmoregulation.
IV.

Body cavity of nematodes contain botryoidal tissue.

S0l oL ©g0ide WOIls

L 2835 DOEP00S” Y0285 & ©old TP DO WEEPON

I QofelSue 2 Sapen airggde ok o8 EEP0w

I 200 DO YALS gPger S0 PEE OO Gaea) 00 S50
IV. FETEL A FosrGeeS” &5 QO&PQD&@ 5680 Gollold

Among the above, the correct statements are:

2 aPES” VB0 TP

Options :

I1I

| ®

I I
2.

II. IV

3 =%

II, IV

4 ®

Question Number : 47 Question Id : 7196501647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Match the following

List - I List - II
A) Vascular cloacal wall I) Squamata
B) Thecodont dentition II) Chelonia
C) Living fossil III)  Crocodihia
D) Jacobson’s organ IV)  Sphenodon

V) Cotylosauria

8old PR RHDGSols:
8% - 1 6% - 11
A)  DHSOSNSBIS €85 & Kocigo ) gl
B) 65wt Both Sego M) S0
C) Lesss 3o ) §3GOasr
D) 2%e508 edakhide IV) Q)@

V)  §Esiyroass

The correct match is

DO &
Options :
A B C D
II III I \%
| ®
A B C D
II III IV I
z. v
A B c D
. I m v
A B e D
II V JAY 111
4. %

Question Number : 48 Question Id : 7196501648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedumas
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Correct Marks : 1 Wrong Marks : 0

Match the following

Group Tvpes of vertebrae
A) Pisces I) Amphiplatyon
B) Reptilia II) Procoelous
C) Aves 1)  Opisthocoelous
D) Mammalia IV)  Amphicoelous

V) Heterocoelous

S0l 7PEI0 BBDGWG
R0 $30S GSo
A) SR D) &2305 DS
B)  26ydren )  »HBEd
C)  DHEoew o) 668
D) &oorew IV)  ezap 6®

V) DL 8

The correct match 1s

OGNS 2D
Options :
A B C D
IV II V I
L
A B G D
. 3 \% 11 Y
A B C D
- 111 I IV I
A B C D
IV \% 11 I
4. %
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Question Number : 49 Question Id : 7196501649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The bending movements of a flagellum 1s brought about by sliding
of microtubules.

Reason (R) : The dynein arms of each doublet attach to an adjacent doublet and

pull the neighbouring doublet

Do (A) : ETedo St WOdo APEY TPPEL 220o SO BENLER.
0o (R) @ ofodey Q) P98 GIng) G ePTVLD O < Gdd) alusy Dy
PRS0 EVEVE Gols TPR) PG

The correct option among the following is

& S0l QYOS DOGVSH

Options :

Both A and R are true. R is correct explanation for A

A 208030 R dxo. A 8 R DB D€

1. ¢
Both A and R are true. R 1s not correct explanation for A
A 8030 R dzzo. A 8§ R DB Dad6es 5°¢0
2w
A 1s true. But R 1s false
" A Qazo. 5°Q R Qavo 5°¢
3, “
A 1s false. But R 1s true
. A Q230 S, 57 R Do
4.

Question Number : 50 Question Id : 7196501650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following :

Protozoan
A) Astasia
B) Polvtoma
C) Chilomonas
D) Monas

S8 oP3R 2389050l -

@f‘&s‘a{’ﬁoﬁé
A) wﬁ{:&a‘b
B) RS
C) J&Sarord
D) aroow

The correct match 1s

HOGDS 23¢9
Options :
A
II
1. =
A
VvV
2 B
A
I
3.¢¥

B &
1 \%
B €
M1 I
B C

111 IV

Type of flagellum
I) Pantonematic
IT) Stichonematic
I1I) Acronematic

IV) Anematic

V) Pantachronematic

S S8
I) oS DS
1) Eé‘bwéé
) DEJIrHSE
IV)  D37&S
V)  otrSDAreS
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Question Number : 51 Question Id : 7196501651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following:

A)
B)
0)
D)

Type of Parasite

Cytozoic
Histozoic
Coelozoic

Ectoparasite

I)
1)
III)
IV)
V)

308 T RSDGH0G.

A)
B)
C)
D)

The correct match 1s

‘?’.)U".‘-&lé.:) G6%o

SEPoHD
&
S

L0370

D
)

ST DT°D) B IV)

DO &
Options :
A B

|

1. %
B
I\IF

7 %

V)

V I1

Example

Ascaris
Pediculus
Plasmodivum
Cancer

Wuchereria

Ao el
e 05
DGO
P03 cabo
5% 0
&sodair

~

T
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i ¥ I11 V I II
A B € D
18% II III 1
4 %

Question Number : 52 Question Id : 7196501652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following stages mn a sequence of their occurrence in the life cycle of
Plasmodium.

L Anisogamy

I1. Flagellated body

I11. Microgametocyte

IV.  Exflagellation

&y Gabo %O I0G &S é)cﬁc)ci STARAT SANVINGSENISRI AT
| B0 e3P

II. §3°eJ Qoo

L Q&Y A D S8

IV.  &e3 A0 3ucSe

Options :
OL IL IV, I
1.
o, IMILLIV
o, LILILIV
IV.IOL I 1
4

Question Number : 53 Question Id : 7196501653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Statement I: Heroin interferes with the transport of neurotransmitter. dopamine.

Statement II: Excessive dosage of cocaine cause hallucinations.

DBPEST 1 EDDO O3 T°& VLTI Eo GTEPS’ JPCPONN 28 Ego WS oblol
DAPESIT 1 S8 9OHF IrS O &S PUEIDDTON.

The correct option among the following 1s

S8 5o 3?1:)93”*?.}&55 QO0IL

Options :

Statements I and II are true.

0 PSS I, 11 5980

| &

Statements I and II are false.
;8 Q@ PO I, II D0SD 5°ad)

Statement I is true. But II is false.

DBPES I BB, 520 PAPUS II DBIO 5060
3. ¢

Statement I 1s false. But II 1s true.

S AINE ERSTe I TARTA VR g@éwéé IT 50356
4. %

Question Number : 54 Question Id : 7196501654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which one of the following opens at the base of the hypopharynx in cockroach?

e @08 BF (500 HE g’ SRS IA.
Options :
Efterent salivary duct

EOeTPET® IR IPR3E) Yo

Median salivary duct

e 0lig LPLREL T°Yo
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Common receptacular duct

m§§ P PH0N %o

Common salivary duct

még P30 %o

Question Number : 55 Question Id : 7196501655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following related to cockroach

List-1 List-2
A) Pronotum I) Nervures
B) Tarsus 1) Intima
C) Wings [I)  Tergum of thorax
D) Trachea IV) Ligula

V) Plantulae

25 Q0850 00200B0DS 8ol TP BBDSIeG

S8% - 1 SE% - 2
A) Qrdg DyR%e )  S8rggben
B) ¢rdyo II) o
C) o5 M) Sgo cwd, Hyd doo
D) arolumreren IV)  Ooger

V) Fed

The correct match 1s

OGS 23¢9
Options :
A B & D
II IV I II
| ®

~

T
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A

111
2.

A

II
3. %

A

n?
4, ®

II

1

Question Number : 56 Question Id : 7196501656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Find out the pseudopenis in the above diagram.

2 D80 QTef W) Docsod:.

Options :

f
b
-
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2.4 B
e &

L
D

4 %

Question Number : 57 Question Id : 7196501657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The statement which says that the two closely related species competing for the same

resource cannot coexist indefinitely 1s called

o) CI0 Dootdo 50 BI) 2PN &8 BEIS SIBHLH ) Do BL ©IBYDorP Ao
WONTSR SOV

Options :
van’t Hoff rule

TPotd % Dodeo

Gause’s principle

T aredo
I 4 J
Allen’s rule
NBIS N QOLNo
3. %
Bergman'’s rule
ﬂéo’.ﬁf"«% D00
4, ®

Question Number : 58 Question Id : 7196501658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following and pick up the correct statements:

I) Mammals and other warm blooded animals living in colder regions have less

surface area to body volume ratio.

IT) Mammals in colder climate have larger ear lobes and longer limbs

III)  Forevery 10 °C increases in temperature, the rate of metabolic activities double

IV)  During transfer of energy from one trophic level to the next. there is no loss of

energy.

08 0T GIOD0 BD VYD T DPoctol.

I) 300 oo L6Tren, RB0 PFREDVS’ B eddBe PO B W

DOITEFDE Dy O DT G0e00A.
) 300 Fod LoTee’ DG DD FDyew, TEDD ADVT 0T E0LT0W.

III) S 10°C e.gal’ga DEOMLOO DY 20033 DoY) LD,

IV) 28 J0g Fon Aol oo Jas Fond 33 PI0m 207D 3§ Ao

20060

Options :

I, IV

. ®

L I
v

!:-J

I, III

3. %

I IV

Question Number : 59 Question Id : 7196501659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect one.

508 ©oTLV BEZONIo W VOV WoT°R), (Qodebs.

Options :

Increase of green house gases in the atmosphere results i the increase of sea levels.

LPOL (55 TPOLVHOL FPOW TTPSGLS’ D0 58 DG DERXVE.

[ %
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Increase 1n the concentration of a pollutant at successive trophic levels i aquatic
food chain 1s called biomagnification.

e GNP (TS °LNgEo MPEE 2u8 FRE POW ol HUPS AN Fows HHEr
FIGER), 850 &30S0 WolIOD.

Enrichment of water bodies with nutrients 1s called eutrophication.
A" I VTP PO DONFSER), CLFEDIID @olrd.

L
#®

The slogan “think globally and act locally™ was given at Montreal protocol.

“TEQETP G Dottol, PP VyoBodos” BF HLORY SPIoDNS DSTIFoeS

aIgealeol.
4.

Question Number : 60 Question Id : 7196501660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement I: Enterogastrone secreted by the epithelium of stomach mnhibits the
gastric secretion.
Statement II: Enterocrinin secreted by the epithelium of duodenum stimulates the

secretions of succus entericus.

OAFEST: 200N SHEY 08 HDeseas DotISTPYIS BES FSEBS G GL6B.

DBPES II: &0 ire) DS ol VDowsedls wdotdEFIN0 DER Joll05D Py,
O,

e!

The correct option among the following 1s

&t $o0 DAYFOS HOADIL

Options :

Statements I and II are true.

OBPSS 1, 1T H35.

Statements I and II are false.

DB 1, 1 53D 9

~

T
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Statement I 1s true. But II 1s false.

VBN I DBHG, 57 VLRAS II DOIE 5760

Lad

Statement I 1s false. But II is true.

P P AN RS To VA RSAVIRC ORI ATNE | RN AT
4.

Question Number : 61 Question Id : 7196501661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement I : The amount of CO; that can diffuse through the membrane. per unit
difference 1n the partial pressure. 1s much higher than that of O>

Statement IT : The solubility of CO»1s 20 to 25 times higher than that of O

OBFSST ol PIE HES Hv 63S0es” FONTYE CO2 D56 Txho €82S
5ol3 wrer @965
SOFPSSIL 1 COp GrSEhoses O TreSehones Kot3 20 — 25 B D80y

The correct option among the following 1s
&8 80l DRYFOS” HOGDIE
Options :

Both statements are correct

0ol DDLU VOIS
. ¢
Both statements are false
e 00t PBFDST VDS %)
Only statement I is correct
DBFNS I QorGd DTHE
3 %
Ounly statement II 1s correct
" 2Bl IT 2P ga DGHE
4.

Question Number : 62 Question Id : 7196501662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following table and pick up the correct combinations.

SNo Clotting Name of the factor Function
factor
I XII Hageman factor Activates cascade reactions of

mtrinsic pathway

II XIII Fibrin stabilising factor ~ Stabilises and strengthens the clot
I 111 Prothrombin Prevents clotting of blood
IV I Fibrinogen Forms serum on the blood clot

800 DEIEES'D BT BZODTo B DTS FDRO t9GoS06.

S. 00 Dol °8%0 5°0%0 VA
I XII ) $6S0 90BN T G WD
&@%é@é}o&
II XIII POS PDTRoA TG0 0y oliRR), VODBL) DG
I1I 111 'g"gge:},s Cﬁg ﬁ&ndﬁ)"’ﬁl ﬁm@o&
v I FRIARNESS % 10,0655 30 B0 DBy B0
Options :
9 | |
1. ¢
II, TII
2. %
I, IV
3.
I IV
4, %

Question Number : 63 Question Id : 7196501663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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Follow the three column matching and find out the correct combination.

S.No List-1 List -2
I Ammonotelic Excretion of amumonia
I Ureotelic Excretion of urea

I Uricotelic Excretion of uric acid

IV Physiological Retention of urea in the

uremia blood

S0l BT 8l00de ) O DT Rounk (OSk.

S5  S85 -1 5% - 2
I oy S8 SIPI0L DG
I oHrocrdOf RGOl 5983

I oo S ¢S OGS wsw B0

IaY L(Sleln'e)) G8eS" QlrOal® dewss
olurdodr Govdlic
Options :
Only I and II
- I, II Soeghadd
Only I and IV
I, IV S0
2. ®
Only I and IIT
I, III &g
3. %
Only I and IV
I, IV docghan
4.9

List - 3
Energy conservation
Highest conservation of
water
Moderate conservation of
water

Isotonocity

38%-3
$3 Dacrio T
2E3 1505 FEY
DED ot SEH &R

Question Number : 64 Question Id : 7196501664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

The ear ossicle malleus is a modified

S8 aeleo oS Srdole &R Eraretdlc
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Options :

Quadrate
@ﬁ)o&}o

| ®
Hyomandibular

;i FodE OG5S
Sphenoid

- nJch‘j §0%0
Articular
&‘i@&)g@"@

4. ¢ 2

Question Number : 65 Question Id : 7196501665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : The conduction of nerve impulse follows all or none principle
Reason (R) : The action potential 1s formed to a threshold stimuli but does not form

a subthreshold stimuli

DI Fo (A) : TEOTUD DT QIO TS B[ 900G 90DBRVE.
57060 (R) @ SO 906 6ol Sa3-#S) 0 DG IS0 B° BAY S0l BLy),D O
€08 SOUTES 0 D\ED.

The correct option among the following is
&t Sold QYOS DOGVIH

Options :

Both A and R are true. R is correct explanation for A

| Adao R dzo. A R 253 Do
l.

Both A and R are true. R 1s not correct explanation for A

A 08030 R D220. A 8 R 208 D:dHGE S°C.

2 R

~

T
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A 1s true. But R is false

A Q2o. 570 R Do 32t

L
b

A 1s false. But R 1s true

A Q20 574D, 52 R dzo

Question Number : 66 Question Id : 7196501666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Pick up the mismatched pair from the following

800 a°¢3eS” O 2389 JOKRIGER 23855 (0DoSole
Options :
Hypoparathyroidism — cretinism

TP TR0 — SEIVee

i,
Hypothyroidism — myxedema
. TXRTONGEe — Q08YGa®
2.
Hypercortisolism — Cushing’s disease
. TR0 0¥ 0ee — Hodeh) gl
3, =
Hyperthyroidism — Exophthalmic goitre
. D0 Purontieze — WIS rPoES
4. 4

Question Number : 67 Question Id : 7196501667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Bursa fabricious in birds 1s a primary lymphoid organ.
Reason (R) : Lymphoid stem cells become mature lymphocytes (immune competent

cells) m 1t.

D3 Bo (A) 1 DHOLS” LTy FDVODD 28 FEE DoJrand wdakdo
526630 (R) : doJroné dure seen B HDBBA RodD 85 DTS snmgs SETROTT
" GTTPO

The correct option among the following 1s
& Sold DRSS DOAVIO
Options :

Both A and R are true. R 1s correct explanation of A.

2 A 208030 R Do. A § R 28 DdH6¢e3
L.

Both A and R are true. R 1s not correct explanation of A.

A08ain R Qzo. A S R 28 D63 570

A 1s true but R 1s false.

« A Qa0o.5°d R dxo 57t

A 1s false but R 1s true.

A Q2o 5°0. 5°Q R Do

Question Number : 68 Question Id : 7196501668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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Statement I : Increased levels of glucose and amino acids circulate i the blood of
pregnant women

Statement II : Somatomamotropin secreted by placenta is antagonistic to insulin.

VAFRIT 1 BONE Q9L B GrSe, WS WATPL FOW WRETP &Gollol.
HOFSSIL ©  200H0Y PR TIPS IrAF) EPOS OS5 H SgABErP D

The correct option among the following 1s
&8 S0l DAYFPOS” DOGNIL
Options :
Both statements are correct

ol @@ FPLILT D0
1.

Both statements are false

Goled DB PRI VO %))

®

g}

Only statement I 1s correct

DBFES T DGR ©oDE

Only statement II is correct

DB I 23°G0 DTHE

Question Number : 69 Question Id : 7196501669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Amniocentesis 1s used for

SOYES HOK B VTV IPE
Options :

Detecting heart problems in embryo

D00t o &S°aren 8ot

1,

Detecting brain development i embryo

2008" S WDBB WSS

7 &

~

T
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Detecting genetical abnormalities in embryo

2 205085° 20§ e HBocsTrIS
3.

Detecting kidney defects in embryo
20¢0e3° Surddodt S aren (1H8oSEIS

Question Number : 70 Question Id : 7196501670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A pure long-winged. grey-bodied female fruit fly is crossed with a vestigial-winged.
black-bodied male frut fly. The expected percentage of long-winged and grey-bodied

msects 1 Fy generation 1s

DY 05°08 Doldd &) OFHen, WrGd S0 Glre Su @& g)“eS % (E.'Jogg S309) @9a530R)
O e, e Sdo S 6 ?".Jogg. Saties” o800 I, F1 &G & bé‘ba Féead) OFen,
2WrPGlS 3o S0 SéusPe) Feedo

Options :
0%
. %
0/
< 50%
59
i 75%
100%
4.¢

Question Number : 71 Question Id : 7196501671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : According to Bridges, the Y’ chromosome 1s not important i sex
determunation i Drosophila

Reason (R) : ‘Y’ chromosome is required for male fertility

G (A) : E0Der dor ngméﬁ YV’ Er& a0 spsnag® S0 DED
0T pT°)
G0 (R) 1 SR e DOSDSGRI8 Y’ §a3red 50 9dd80

The correct option among the following 1s

& $old QYOS DOQVIH

Options :
Both A and R are true. R 1s correct explanation for A

A 208030 R dzo. A § R D8 D56¢e3

| ®

Both A and R are true. R is not correct explanation for A

» A 208ain R Dxo. A $ R 280 D6 5°¢0
2.

A 1s true. But R i1s false

A dzo. 5°0 R Do 5°¢

A 1s false. But R 1s true
A Do 5°¢0. 570 R Do

Question Number : 72 Question Id : 7196501672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T
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Assertion (A) : X-linked recessive disorders are expressed more in males than the
females

Reason (R) :Males are hemizygous

Se (A) : X—i“’w‘“uﬁl el @T’.Jr’\:;é;w el 5:?;_ oS Qﬁo&m Sg8e
Sa)T0N
w0te (R):  pldven f Oﬁﬂﬁ&f‘.ﬂ“w

The correct option among the following is
S Sod R)TUT SOTSG

Options :
Both A and R are true. R is correct explanation for A

A 803w R Qavo. A S R 28 DedSE

= 4
Both A and R are true. R is not correct explanation for A
A S8 R dao. ASR D0 DDGE? .
2. %
A 1s true. But R 1s false
™ A Dz0. 5°Q R Q2o 5°¢»
A 1s false. But R 1s true
A Qo 5°¢0. 5°Q R Ao
4 %

Question Number : 73 Question Id : 7196501673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

Blood group Antibody in plasma
A A L Anti A. Ant1 B
B B I1. Absent
C AB 111 Anti1 B
D O IV. AntiD
V. Ant1 A
S0l IR BBHVGNele
S oGe ?&éw’s Gols DRI
A A L oot A dotSB
B. B I1. Golsad)
g AB M. oo¢S B
D. O IV. o8 D
V. ot A

The correct match 1s

DOGS 23¢9
Options :
A B C D
III \Y IV I
|, #
A B C D
- III V I I
A B C D
I II V I11
3. %
A B C D
IV II1 I II
4. %

Question Number : 74 Question Id : 7196501674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The hormone which suppresses the immune responses 1s

EEISEE HD D300 BT LGS

Options :
Aldosterone
SV

| ® S
Cortisol

5

7 o S°@
Progesterone
FEJ0°®

3, % .

Calcitonin
SR
4. %

Question Number : 75 Question Id : 7196501675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In Hardy Weinberg population 2pq represents:

0 a0 &I 2pq PVl
Options :

Genotypic frequency of homozygous dominant individuals 1n a population

2307 DK LIRTEES 2a) 22805 SO TS0

1%
Genotypic frequency of heterozygous individuals in a population
» BI°EPS D DN 0N Y22 DL 22g G BPSEYJIgo
Genotypic frequency of recessive mdividuals 1n a population
§ BLS VoSG 2adHL 28y G FJYdgo
3,
Dominant gene frequency in a population
BSOS R WA 2330808 T30
4. %
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Question Number : 76 Question Id : 7196501676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statement I : Homologous organs exhibit convergent evolution

Statement IT : Analogous organs exhibit divergent evolution

VPS¢ Q0PEs Padg S0NTPEN AIPE DOETPSIPR), DO ITPOW
VP II 1 SOIP Paldg ©9505TPe PO DOEPSIV) DWOIPOW

The correct option among the following 1s
&s 508 DYFOS” HOANIE

Options :

Both statements I and II are correct

DA Bden T 08asw 1T HBHD

|, ®
Statement I is correct and statement II is false
DOFED I 2B, DAFED 11 DBIS 5°¢0
78
Statement I is false and statement II is correct
DOFED 1 DTIS 5760, PAFAD 11 288
3. &
Both statements I and II are false
& Q&S‘Cﬁa‘)w I S08ain II RDBAD 57
4,
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Assertion (A) : Inphyletic evolution there 1s no multiplication of species.
Reason (R) : In anagenesis one species 1s replaced by another species in course

of time.

OBBo (A) @ DOEE DOEPSES 2PeL 2P TVTI 0 Goletd
w880 (R) @ dor80096¢ so E30ER 28 20 JE ePDONT 5 o878 e
S 80 WaldVedd

The correct option among the following 1s
&t $o& RO HOADIL

Options :

Both A and R are true. R 1s correct explanation for A

A 28030 R Qa2o. A 8 R D8 DH6¢e

1. ¥
Both A and R are true. R is not correct explanation for A
A S08030 R Dz2o. A 8 R 28R D66 S°CD
2. %
A 1s true. But R 1s false
i A Qzo. 5°Q R Qo 570
A 1s false. But R 1s true
A Qo 5. 5°A R dazo
4. %

Question Number : 78 Question Id : 7196501678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Elevated S — T segment 1in an E.C.G indicates

ECG &5 S — T dotto 0G0 HAD Lrdinod

Options :
Hypercalcimia

N0 OO

. ®

~
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Tachycardia

. trésoodr
Myocardial infarction

w ole PN
Hypocalemia
PFONOLT

4.8 =

Question Number : 79 Question Id : 7196501679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Animals that have their own genome and had their DNA manipulated
to possess an extra foreign gene that expresses are transgenic animals.
Reason (R) : The foreign gene expresses biological products to treat certain human

diseases.

Do (A) 1 DD BToH UIAP BJg BN 35500208 DNA 05000206
2300eHVD 2g DOJOD 280N WolI.

5°0e%0 (R) : ©dg 28303 §'0) O5°0 S5rPaied aTPgl0 WSO &DAIRING DT
S8 500w

The correct option among the following is

& S0l DRYFOS HOGVIR

Options :

Both A and R are true. R 1s correct explanation for A

A 208030 R D220, A 8 R 28 DadHSes

| B
Both A and R are true. R is not correct explanation for A
A 08030 R dazo. A 8§ R DB D566 5°¢C.

7 o
A 1s true. But R 1s false

i A dxo. 50 R Qo 5°¢
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A i1s false. But R 1s true
A D20 B°¢D. 5°0 R Do

4.%

Question Number : 80 Question Id : 7196501680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following
ECG Duration
A. P-wave I. 0.8sec
B. T-wave II. 0.4sec
C. R-Rnterval III. 0.1sec
D. Q-T mnterval IV. 0.08 sec
V. 02sec
S0l TR 235NNk
Re V. 23 $erdl
A, P-&0offo L 0.805D
B. T-&8e% I 045
C. R-R ®c®8c II. 0.1 35D
D. Q-T ©®0c IV. 0.08 25
V. 0.25
The correct match 1s
OGS &5
Options :
A B C D
- III A" I 1A
A B C D
II I V III
2. %
A B C D
b I11 \% | II

~
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

IV

Physics

71965034
3

Online
Mandatory
40

40

40

Yes

1
71965034
Yes

Question Number : 81 Question Id : 7196501681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The fundamental force behind the frictional force 1s

0883 20OVSN FeSE 3, TFHNE WOXN B?

Combination of nuclear and electromagnetic forces

Sﬂ:@é 000K DEVGTPODNFY 0 2L FUOWS

Options :
Gravitational force
oo §§§ea A SN
| B
2 R
Electromagnetic force
S’Jc‘éo?gwom“g,o@ PN DISY
3.
Frictional force itself
Sed0 SVSLEAIAY
4. %
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Question Number : 82 Question Id : 7196501682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In CGS system the magnitude of the force 1s 100 dyne. In another system, where the
fundamental physical quantities are kilogram, metre and minute, the magnitude of the

force 1s

CGS 6535‘@6‘ 2o IS HOSIPESD 100 @Qs. ST, AL «SHOC5N IED PRWE
DOSTEFLNT M 388 égé@@* 2000 GOV DOLTPETSN?

Options :

0.9
|. %

3.6
2.4

2.7
3 ®

1.8
4, ®

Question Number : 83 Question 1d : 7196501683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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An object 1s moving along x-axis. If its position x(t) (in meter) at any time t (in s) 1s

given by the following graph. then the object 1s at rest about

Bl S0P X-OFo Tl DB BE VWOPo T (RESS) SG Ko TR Fdo x(f)
(DBES), o0& Ba® HEIES IPATTE. & SKVY 2 DSOHS S DT PSS’ &old

]

S e T B
I ——

Options :

t=—1s
| %

t=0s
P

t=1s
3./

t=2s
4 %
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A car travels from pomt A to point B at a speed 40 kmv/h. The car then returns from B
to A at a speed 60 kim/h. The average speed for the round trip 1s:

Botioed) A S S0 B SG50 8 20 40 knvh SGeS* HOSrBnes. ©f F& 300 B $¢
506 A S5 60 kim/h SGe8* HOSPEIWOB. S HOSEIo Ay, DKW S

Options :

50 kmv/h
|, #

24 kmv/h
2. ®

52 kmv/h
3. *x

48 knvh
R 4

Question Number : 85 Question Id : 7196501685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A projectile 1s thrown at a speed v, making an angle 6 with the horizontal. If the speed

; T : .
at the maximum height 1s AL then the magnitude of 6 1s

V' S3GeS” D0 JoNeGs a¥ DEDEIN E3es Dalro®boed” 6 §'tio W0k, KO PV VN

D 36 % 50N, 0 HOBTEE) Jos?

Options :
30.5°
| %
60.5°
2.8

~
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Question Number : 86 Question Id : 7196501686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider a projectile thrown with an mitial velocity of 10 m/s at an angle 45° with the
horizontal. Which of the following equations describe the projectile’s motion?

(Take g = 10 m/s?)

w8 DEDEID FBoa atle 10 Q0/EKeS, Sdes DaSrotioes” 45° §io WRENTP DO
HOKES'S SL0B0me) G, S8 Sobd 0 DEGESD HEDE JOTRY, D800
(2= 10 &/35H? ©§&)

Options :
X 3
Y = "
V2
. %
y=x—-0.1x"
3.

y=3x- 425

V=% —IOJE\':

Question Number : 87 Question Id : 7196501687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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A body of mass 2kg 1s acted upon by two perpendicular forces 4N and 3N. The

magnitude and direction of the acceleration of the body respectively are:

2 SSTPS0L GS50°8 o af SR AN HOkn 3N Ko Tothd ©zct 20eren
DOIPNoIE0GRTPON. & SVad) CINE), B DOST*EIe 200K HHF SEIIP

Options :

5 - o
2.5 m/s*, Tan™ [ Fi 1 with respect to the direction of 4N force

2.5 m/s%. 2000 4N B o™ Tan™ (%}

1. v

R 3. T ;
2.5m/s’, Tan™ ( 7 1 with respect to the direction of 3N force
\

2.5 m/s’, 2000 3N HIX ©3%0ese™ Tan™ ( %]

2. %
2.0 m/s’>, Tan™ (iJ with respect to the direction of 4N force
2.0 m/s’, 200 AN HFH ©@Sese® Tan™ (i)

3, % ’

2 ) i i - - —_— "

20m/s”, Tan (3] with respect to the direction of 3N force
2.0 m/s®, 2000 3N &I KL Tan"l{i]

4. %
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Three forces act simultaneously on a particle moving with velocity Vv . These
forces are represented in magnitude and direction by the three sides of a triangle

ABC as given below. The particle will move with a velocity

V'S8 DOUPEIQIN), 8 Stto R SUPED 20PN ¥ TS DAIVT®) 00, S8 WPV
QANE, 0SPEIe DO0KN QIVD S8 Sotd Wrddedd ABC BS'm alereed” Qrdowedo. Stio
50 30550

=
W
& B
Options :
less than V'
V &S0 650
| #
greater than Vv
v 5oy, 03502,5
2. %

[1—" in the direction of the largest force BC

(503 2000 BC cngy, 83" V|

V' remaining unchanged

—_—

V S5P050eG® Gollodd

4.

Question Number : 89 Question Id : 7196501689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

An object of mass 8 kg moves along positive X - axis. When it passes through X = 0,
a constant force directed along the negative X - axis begins to act on it. The kinetic
energy of the object 1s found to be 0 and 30 J for X =5 m and X = 0 m respectively. If
the force continues to act further. then the object moves back along negative X-axis.

The speed of the object when 1t reaches X = —3 m

8 kg e Qadg0r2 0 S0a) O E X —olo (ol® Soened. @b X = 0 &
TPEISRQ )R, 200TPSYE X — @¥o JR) A8BeDeES A8 W0 PR DAVONGEe STt k.
X=5m 000 X =0 m &5¢ ¢fedes 4§ 0ensden SG0rr, 0 00050 30 J. &8 e0o HoSIr
TP DVWY® &I)W, & Se) WTPRE X —0fo (Dol JIHB0N Fentod.
X =—3m J0S )00 & 5ad) Gy, 56

Options :

2\/5 ny's

1. ¢
3.5 m/s
)
3.5m/'s
3. ®
4.5 m/s
4 %

Question Number : 90 Question Id : 7196501690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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A ball 1s projected vertically down with an initial velocity from a height 10 m onto a

horizontal floor. During the impact 1t loses 20% of the energy and rebounds to the
same height. What 1s the mnitial velocity of its projection?

(Use g= 10 m/s%)

10 m © & Dok VLGP S0 2u¥ 20V $32 DSBS Su (floor) P Fdoalaitioes”
DF0cD20G00. S SRITY HHODES' BB 20% O S B> 6B K BOH Sl

ALY a“(joﬁﬁ éﬁbm %0
(g= 10 m/s> T &HABPAoSols)

Options :

5 «.E m's

. ¢

104/3 m/s
2. %

S\E nvs
3, ®

10\/2_ ny's
4, %

Question Number : 91 Question Id : 7196501691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An object of mass 2 kg 1s moving with a uniform velocity of 2 m/s parallel to the
Y-direction. At the time of 7 =0s the particle is located on the X - axis 3 meters away

from the origin O, then the angular momentum (in kg m?/s) about O at ¢ = 45 is

2 kg $850°8 60 a8 S 2 m/s © OB Hoed® Y-0mds Do SO,
=05 ¢ ©& Sre Dot O o 3m PSS’ X — ©gop GBI 7= 4s & ‘O
8280 TP §'AOD GSedtho (kg mYs &5°)

Options :

~
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122 k

| ®
1242 &
2.
12k
o ®
12 &
4,

Question Number : 92 Question Id : 7196501692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A ball of mass 200 g 1s thrown directly upward from X-axis from x = 2 m position.
The itial speed of the ball is 40 m/s. The magnitude (absolute value) of the angular
momentum of the ball about the origin (x = 0). when the ball is halfway back to the

ground 1s:

200 g (355078 f0 &8 20030 X— @0 ok, ¥ = 2 m S& SOIP D5 AV0IFL. 2003
TS S 40 m/s 0B WoB JOIY B0H HOEE Ve KrdesS” &) YL re
8Joc0ad) (x = 0) D @3 00D 60N Padg 39 DO (DesPY VL)

Options :

8 N.m
| ®

16 N.m
2. %

B\E N.m
3. ¢

16\5 N.m

4 %
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Question Number : 93 Question Id : 7196501693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A physical pendulum consists of two thin rods of equal mass, each of length 1 meter.
The rods are jomed together at point P as shown in the figure below. The angular
frequency of the pendulum about pomt P (which is at the center of horizontal rod) 1s

(Assume g = 10 m/s?)

o8 aTAE SO0 SIS Pa3g0°3 SO 25 HE 1 m A0 D), Totdd D) O Sewd OO
670°) O, & 0olld $Gen P &6 DE20eS" Srdddd Do Sendent &) 0. ‘P’ (232 DS
$68 JxiSg Botinnd) S0t SOEY) SEH0DH FIDIgo

(g =10 m/s* ©H5&)

P
[ | | i

“2m || 12m

Tm

Options :

2 ﬁ rad/s

3 \E rad/s

2. %

4 rad/s
3. %

3 ﬁ rad/s
4 %
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A satellite is orbiting a planet in a circular orbit of radius 1 = 10’ m. The gravitational
force F on the satellite due to the planet 1s 80 N. What would be the new F if the orbit

radius is doubled to 2 * 107 m?

£)-

D0 Bl BiFo w&r 1 % 107 m argde KO SYTPSO E&geS HORRKR. & §iFo
S8R DIID BBEPyEdE we F 9005 80 N. e &dsir 845 argron 08ed),
2 x 10" m 9o, 378 F 9e0s

Options :

10N
| %

20N
2 o

30N
I W

40 N
4, ®

Question Number : 95 Question Id : 7196501695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Stress vs strain for the elastic tissue of the aorta, the large tube (vessel) carrying blood
from the heart, will be: [Stress 1s proportional to square of the strain for the elastic

tissue of the aorta]

SFDE EPOHL LYITEDI, DG THSN(TFIN) HoB ol PV SNEIITA,
S00XD — DEYS DoteiPR) WPAowd: [DBFDE Seerrctio 20 )RS HBwwsy,
DEYB A%, ST°VS WS IS Gollo®]

@& o

Options :

~

T
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X10°7
14+
stress
YL EATS NS Y
N 05T
1 1 "
1 1 L
05 1
strain
DED
[
X]U'ﬁz\
o
stress
@e‘?m@mn
05T
1 1
I 1
05 1
strain
DEH
7 R
X10%
"[--h-
stress
T2 AL OGS
) 05T
—t
05 1
strain
3 # d
4 %
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A lead ball of 1 mm diameter falls through a long column of glycerine. The variation

of its velocity with distance covered is represented by

1 mm aPglo O Ao W0 FEUTS Kook &) HNOD DVoaddd ot HEHIE. &b
QPO w0 BPGetS” TP adtiad éo& ANl LT“EJ AP oIl

-

Distance —
wd)lele

A

/ |

Distance —
whilele)

N
~
7

Distance —
GO0

\

Distance —
% ‘avplele

Options :

S
i

SHo
Velocity —

M0
Velocity —

b

S50
Velocity —

>

ano
Velocity —
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A square sheet of metal of side 4R has a circular hole of radius R cut out

symmetrically. The coefficient of linear expansion 1s ¢ . If the temperature of the

sheet 1s mcreased by a very small amount AT . then the area of sheet is changed by

CaR” AT . The magnitude of constant ‘C” is

( Given ﬂi <<l ]

J
abzzdn 4R Mo af ISEFsd ST vos R a:gé"go a3) ﬁgbom §°0%0eGS
DyZs°6 Sodo EONDD. R Qg °gSN oeaSe "o 7 DOE Al &FISS BBK) S
D050 AT DodSYE, VOE I8y, FPUgo CaR® AT T SrExd. YTTESN
‘C’ Al HOSIeess0
(%{{1 B350 )

Options :

(16 + 7)

(16 — )

7 R

2(16 — )
3.¢

216+ 7)

4. %
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A glass flask of volume 100 cm’ is completely filled with mercury at 20 °C. The
amount of mercury that spills over when the flask is heated to 100 °C i1s :
(coefficient of volume expansion for glass = 30 = 1078/ °C, and for

mercury = 0.18 = 107%/ °C)

£05005e30 100 em? ¢ tPes X080 20 °C S¢ DPOMP FPEsBH0es” QoPdd. TR0
100 °C S8 36 32 200008 T FPE5SK0 HOSTEG
(P23 0505 g8 omso = 30 * 1078/°C 5005 SN = 0.18 * 107/°C)

Options :

24 x 107 em?

1.v
0.14 « 107* e
7 o
0
® |2 ﬁ
24 % 10% em’
4, *®
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Two cylinders A and B of equal capacity are connected to each other via a stopcock.

A contains an 1deal gas at standard temperature (T, )and pressure. B 1s empty. Then
the entire system is thermally insulated. The stopcock is suddenly opened. After the

gas reaches equilibrium the temperature (T>) of the gas measured. Which of the

following 1s correct?

0537 PePgadd G A SHOOKW B Qoraren alirdsE sd0G® PyoP Seneds e 0w,
a8 A0Q &N (T,) 0000 Do S ‘A’ 2l GG TPAWHD FOH &od. B’ ardrre
GaoudCorIndie. & 3580 Do &Y Wold¥e WONZIGD. OGS WEF S (suddenly)

DODS & TOKY DS DS IEKS) BT AP GBS (T2) M FOT. s
38 FAS" DTSR

Options :

5 =2
| ®

1

y S

- 2
2. %

I, =1,
3.

7, cannot be determine

T, © G008

Question Number : 100 Question Id : 7196501700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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A rnigid triangular molecule consists 8 degrees of freedom. The adiabatic constant

b " i Eg ,. i
(;f = (T] of an 1deal gas consisting of such molecules 1s

1

a8 BEEPFOY) GYliaidsd ) 8 Py DOWLL SO0 &) &. aEd tHLN FONS
\

C, |
W8y T050aE) TSy, DE'D V0o (;f = |
Options :
1.20
|. %
1.2%
2.v
1.30
3 ®
1.33
4 &R
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Two vehicles A and B are approaching an observer O at rest as shown below. Both

vehicles are moving at same speed and have identical sirens blowing at frequency vs.

The observer hears the sirens produced by A and B at frequency va and vg

respectively. The correct statement 1s

S0l DS WA DGWrP, ‘O’ S VTS0 1B S &) 2¥ DOBLHV I A SOakw B
Totid TPEPRTPLN DADRJT®) ON. Dolld TPEPRPLD &S S Soendhr DEOS VOO SOH
S F3YJgo Vs 8365 oIPNHRVT®) 0. 20, & DOBLRD PBe A HOGKW B 80 Dol
G WIS FIYdge SEITP VA HOASN VB TP O°) (0. €8 S0l PRS00 DS

Options :

VS}VB-::’VA
1] ®

VA-VB=VS
7 &

VA = VB<V§
3. %

VA = VB~VS
4.

120°

-

Question Number : 102 Question Id : 7196501702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T

collegedunia:

India’s largest Student Review Platform



The critical angle for total iternal reflection for going from a medium 1 to medium 2

1s 6. If the speed of light in medium 1 is v, then the speed of light in medium 2 1s

OIPIESN 1 Dol ORI 2 % FdweDS KJQQJ"?"D% KJU"éQ&S KJofh{_j $°30 6.
OSTPIE30 1 €5 52063 30 L WONS, 2 & OIPS%0 SPoe? o3t ?

Options :

v (1—cos 0)
] ®

v
sin 6

i

L cos O
3. %

v s o
4. %

Question Number : 103 Question Id : 7196501703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A bi-convex lens made of glass (refractive index 1.5) 1s put m a liquid of refractive

index 1.7. Its focal length will be

(Pezed” SHOSrPG) WS w8 &5@03.3"3"5 AL (1.5 éga;ié:é dJSB§a) & 1.7 5§2§éfﬁ og¥o O
Qéof‘sb Gowrl), WP 5’5"39580@50

Options :

decrease and change sign

S SOOI Doy Sl
1%

increase and change sign

DAL SHO0KN Doz STl
2. ¥

~
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decrease and remain of the same sign

S50 SO0 OB Ko Gotwod

increase and remain of the same sign

DB HOO%Y B ;t}cg.@" &ol00d

4 ®

Question Number : 104 Question Id : 7196501704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Young’s double slit experiment. the separation between the slits is halved and the

distance between the slits and screen i1s doubled. The fringe width will be

O300h) 220y D& Qwﬁoesﬁ, WOSL g GrocR) UPAS Sllow, WOSLL SHO0 A6
Qg QroPQ), Oollon) W), DEIE 2ICe0)

Options :
halved
o a0l
| %
doubled
0Goxd) ©adHold
7w
quadrupled
TP VOCD )P0l
3. ¢
unchanged
NS VARRE ATAY
4. %

Question Number : 105 Question Id : 7196501705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A solid metal sphere with a spherical cavity as shown below has a total charge Q. Let

O be the centre of the sphere and P and Q are two points equidistant from it

(’OP ‘I‘OQH- If |Z| and ‘E‘ are magnitude of electric field at P and Q

respectively, then the correct statement is

DS PSS AP (TP S'dSw(spherical cavity) SOOS 20S ST (TS0 0o
w3 Q 500 6510, ‘O ('vo T, 5085 otind Sob P SH00W Q & VTS

ErGesS’ &0, O |

OF|=[00|)en wowd |E,| S0k [E,| w, Seuee P
30050 Q © 56 DS FS HOSTTPOB, HVS VSIS

o) SR ES0
Metal Sphere

555w
Cavity

*—
p

Options :

E- -0
[ %

-
2.5

Er|<IFe
3 %

E:|=[Eo]>o
4. ¢

Question Number : 106 Question Id : 7196501706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
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In a parallel plate with air capacitor of capacitance & uF. if the lower half of the air

space 1s filled with a material of dielectric constant 3. its capacitance changes to:

8 UF SrDED) (10 DaiPethd HOSL O SFDLES, Sobd ifo TPON WothTo oS
&8 Jorede 3 Ko :Jc:“gm&s Dond, 83 oo Q&inﬁmb
Options :

3 uF

16 uF
3.¢

24 uF

4.%

Question Number : 107 Question Id : 7196501707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the equivalent resistance between point A & B.

A 30050 B © Soddg eoerg A0 GaSw

1Q 1Q
A VWAWA VWA

Options :

b9 | =

1Q

2. %
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(§S]

Lad
®

3Q
4.

Question Number : 108 Question Id : 7196501708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the circuit as shown below. In the circuit Ri =R =R3=4 Q. Vi =10V and

V2 =5 V. The current flowing through resistance R3 1s

& 506 SOOEPR), Heddovdole. HUST RI=Ry>=R3=40,Vi=10V 0050 V=5 V.
R3 {Jﬁaéojl) Doe® é&’)a}“mf) 5)@56’5 éﬂ“:ﬁ"o

Ry R,
—WWA VWW

ey % R, = ¥

Options :

0A
| ®

1A
7 W

1.75 A
3=

125 A
4.

Question Number : 109 Question Id : 7196501709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A particle of charge q = 1.5 * 107°C and mass m=9 = 107! Kg follows a helical path

in a uniform magnetic field given by E:( 201—50li+ 301{}111T. At tume t = 0, the

M M

velocity of the particle 1s given by vV :(ZUi—BU 1+ S[}k]nﬁs. If R 1s the radius of

helical path then correct statement 1s

w30 q= 1.5 x 107°C 50050 $330°3 m= 9 x 107! Kg SO0 & eso 05 @0HR) 085

g80 B=| 203—50'}+30EJ111T & GBSy V50030 Herdy (helical path)

= \
ONEOWD. t = 0 DHASFEVS, & Stso GI0ET). oJtle ‘?:[201-30 J+ S{Jk]mfs oS
0000YL Do Al0E),. g o R @00SS, 00 O3PS
Options :

R =6 nm

5<R<6nm
) o

4>R>5nm
R > 8 nm

Question Number : 110 Question Id : 7196501710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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: , 5 : :
An infinitely long solenoid of radius a= — cm and 10 turns/cm is placed such that its
T

axis of symmetry lies along the X-axis. A current ‘I" is flowing through the solenoid
(» means that I is flowing into and « means it is flowing out of the page).

A straight infinite wire with current 25 I is placed parallel to the X-axis at a distance

away from the center. Which of the following gives the direction of net magnetic

S -~

field at the origin?

s
Fgrde a = — cm HOCW 10 otw/cm SDAD dod FUII FOT oG WSy

T
TRFED X- o &3S GodzoGod. POTPoNE (Lotee T &Cﬁ.}ﬁé DL DSPD

(¢ 28 '8 HIPWSY T H DPIWed HOAW * Dot JLVOK PSPy T

AP D0B). 25 T HIPS0S w8 90t FESS 2oz (straight) & So@sas % S0,

L

X-0%08 DePotlorP GolnGID. §od IS 3olo S V5O WaHI od ES &F
DOTPEF ), SEVYSIR

1
I N N O O

{—ﬂ:—’t—:ﬂ—)

251
>

LE LA LA T KIRX X ZIXIXTAT ST

Options :
2X+2Z
Vs
|. ®
2% + 2
V5
2.¢
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Question Number : 111 Question Id : 7196501711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The materials suitable for making electromagnets should have

0O 0EPL) BOITPE) DOSNEH &DAITNIowd NG DWPTPOR GoladOASD

Options :
high retentivity and low coercivity

©OF 08 VG HO0KN VLY AT

|. &
low retentivity and low coercivity
OOy 0 3V HOAKN LY WS
2. ¢
high retentivity and high coercivity
OO 06 IO HOOKN WO AT
3. %
low retentivity and high coercivity
VLY 56 IV HOCW WOE VIS
4 %

Question Number : 112 Question Id : 7196501712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Two coils are placed close to each other. The mutual inductance of the pair of coils

depends upon

G0t SILLN 2ETPISEE SHOTP GovdenGeon. €8 & &) Wrdw GlE) ©s gy 20
SONG Goleld.
Options :
the rates at which currents are changing in the two coils simultaneously

Tolld S5OV DD DaTele St T D05 O¥orr

relative position and orientation of the two coils
Tola) TGO WML Tk FPo 2O05 GHTE0ND
2.
the materials of the wires of the coils
INVVSRL o RUALORWIY

3R

the current mn the two coils

Both) SO’ DB HaTEmS

4 %

Question Number : 113 Question Id : 7196501713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In an oscillating LC circuit when 75% of their total energy 1s stored in the inductor’s

magnetic field. the charge on the capacitor as fraction of maximum charge on it is

8 GPOHSTS LC SUOD0ES 30 3§ €' 75% HOESES'D 009 089 FGS50eS 03
oS, SFVE DS &), o TRUP &), KON WIF S e

Options :
0.2
1. %
0.25
2.8

~

T
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0.45

0.50
4.

Question Number : 114 Question 1d : 7196501714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A light beam travelling in the X-direction 1s described by the electric field
Ey = (600 V/m) sin (ot +¢). An electron 1s constrained to move along the Y—direction

with a speed of 1.0 » 107 m/s. Find the maximum magnetic force on the electron.

X—00¥o t00G® DOEINT), ¥ 5o oerd) gD Eo Ey = (600 V/m) sin (ot +¢)
@PIO° AGZDedSY. 1.0 x 107 m/s Stfoed® HOIPBNS), DUFINS Y-08o Jozdb
508680 DO DT, 2dUFPIDD), (05 @AY o wer) O8) ovdols.

Options :

18 x 107N

32x 10718N
v

bl

32x 10N

1.8 x 107'*N

Question Number : 115 Question Id : 7196501715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An electron falls through a potential difference due to which its kinetic energy

becomes 4 times its value before the fall. The de-Broglie wavelength will be

B TS FEEEID o0t DHEBS) oS TR Kedes 3§ HEKO oty &), DS
$o3 4 BEY BPMB. &850 SBotiBSs0

T
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Options :

Doubled
0&Jes) ®aH&old

unchanged

cﬁ)"’@b&odﬁ(ﬁ)

':..l..'l
e

tripled
SNPLOOLN BDE0 WaH P00

Question Number : 116 Question Id : 7196501716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In the hydrogen atom the ratio of wavelengths of the Balmer transition (n =4 to n = 2)

to Lyman transition (n =3 - n=1)1s

FEaR DOSTEVHS'Q ePST0 DoBsdes (0 = 4 ol 1 = 2 IEK) Sole T DoF0es
(n=3 - n=1) o SGeBRO°3L IS

Options :
128
27
1.
18
64
2 -
s
18
1 ®
27
128
4, ®
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Question Number : 117 Question Id : 7196501717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A sample of a radioactive element with mitial mass of 32 g decayed to 4 g m

42 minutes. How much of the original sample remained after first 14 minutes?

32 g PBoaS (b30°% (90 28 S0P BGAIF GPOYE S0rSo 42 JWPLES LODS0Dod 4 g
OF0 SR, JNWEY 14 S0PL BT DL S0 7eS” 0da® SMLEVEDA.

Options :

16 g

)
g
0

12 ¢g

e
®

o0
=]

Question Number : 118 Question Id : 7196501718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Solar cell is a photodiode operated at

TS DOCOSN 28 FETUAIPE 8 DAITVE
Options :
zero bias voltage
LSy FEYo S'Tes 56

1. ¢

constant bias voltage

RS 80 ST a5E

7%
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forward bias voltage

4)'e) ";ﬁéo oS‘e;Saa 55(;3

reverse bias voltage

S 80 S'Tes S

4. %

Question Number : 119 Question Id : 7196501719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For LED’s to enut light in visible region of electromagnetic radiation. it should have

energy band gap in the range of

o &prd GalrG LED 0 QE0gloirwryotd DSGEros Gyl oot 2B
JEVS0NEIS TS GoliadONNS ¥§ WS TPgd)

Options :
0.1eVto04eV
0.1 eV & 0.4eV

| %

0.5eVto08eV

0.5 eV ol 0.8 eV
7w

09eVtols5eV

0.9 eV ok 1.5eV
7 #

1.6eVto32eV

1.6 eV o6 3.2 eV
4 &

Question Number : 120 Question Id : 7196501720 Question Tyvpe : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Television signals along the line of sight on earth cannot be received at distances

greater than 100 km from the transmission station. The reason behind this 1s that

HPS Bolho ok EFELHOIV V3T AP HSyRdar Jo2d 100 kin €0 ©&¥ Srdees’
(83Poud S350, ARAS TPOEN OIP

Options :

the recetver antenna is unable to detect the signal at a distance greater than
100 km

100 km %83 0)5}\}2,.55 P GoeS [}"5:5”50 Eok‘."’:i&'f";‘ @éoﬁ"rﬁl é&?“oéﬁj@

| ®
the TV programme consists of both audio and video signals
28 TV 508355050065 & ydg 200050 5568 Tollo I5°0 008&Pel GolIPOw
2. %
the TV signals are less powerful than radio signals
OGAIP o3P $ol3 TV Do3&PLN TSl P GolIPON
3 ®
the surface of earth 1s curved like a sphere
e3P GOS0 (YO d’)éoﬁ_f" &olold
4.¢
Chemistry
Section Id : 71965035
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965035
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7196501721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
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| .
An electron has the quantum numbersn =4, [ =1, m,= 0. ms = +; . the electron is

present 1n which orbital?

28 JUFIR GIE). S°goldo Doogeon=4, ( =1, m;=0,mg= +% WOND, & WOFIR o)

WO EPES € Gotod.

Options :

4s
| ®

4p
2.

4d
3=

4f

4, *

Question Number : 122 Question Id : 7196501722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the total number of orbitals associated with the principal quantum number

n=4?

DG °goldo Dorg 1= 4 &5 EPGOSNS), o WONEFEY Dog odoth?

Options :

12
1. %

14
2, ®

16
3.¢
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Question Number : 123 Question Id : 7196501723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The decreasing order of metallic character of the elements Be. Mg. and P 1s

Be, Mg 50050 P SoresSnw S8 03arse ) 55050

Options :

P > Be > Mg
| %

Mg > Be > P
2.v

Be < P < Mg
3. %

Mg < P < Be
4. %

Question Number : 124 Question Id : 7196501724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one has the highest first ionization enthalpy among Na, Mg, K and Ca?

Na, Mg, K 50050 Ca 0 @& 3¢ ©0050085¢es 48 0930 )P &otoodd

Options :

K
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2.v

Na
3.

Ca
4 %

Question Number : 125 Question Id : 7196501725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following systems with respect to the correct order of hydrogen bond

strength
@_‘@3&5 2ol 2o éS"C’)G & ga& AN KJQ@ g&i}c@é @cﬁ)(‘.’)‘)o&
i) OH-O (i) NH-O (iiiy FH-O

Options :

(i) = (ii) > (iii)

|
(11) > (1) > (1)
2 ®
(iii) > (i) > (ii)
3. ¢
(111) > (1) = (1)
4, ®

Question Number : 126 Question Id : 7196501726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What are the formal charges on oxygen atoms in the following Lewis structure of

HNO, ?

S0l adgwis HNO, Clng), Lorone 078508 &8y D8I o Gole a8 O
SITL0 oJo?

1 3

D=N=0-H
I - =
2
:0:

L

Options :

(0"0).(0%:~1).(0":0)

(0%:-1).(0%0).(0%:~1)

(0%0).(0%~1).(0%+1)
(0:~1).(0%0).(0%0)

Question Number : 127 Question Id : 7196501727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

What will be the pressure of a gas mixture contaming 2.8 g of N2 (g). 2.6 g of CoH: (g)
and 3.0 g of C2Hs(g). at 27 °C in a 9000 cm’ container?

27 °C &% 9000 em® e JredeS’ 2.8 ¢ N (7°), 2.6 op C2Ha (o) 00050 3.0 i C2Hs ()
TP S0Fa0 o) G0 WO & TPOKN AFSo Do wdoS?

Options :

~

T
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8.2 atm

| ®

0.82 atm
2. ¢

0.08 atm
3 %

1.2 atm
4. %

Question Number : 128 Question Id : 7196501728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the mcorrect statements for an 1deal gas

X553 0K (PO DO Pgarg AR

Options :

The product of volume and pressure of a fixed amount of gas 1s dependent of

temperature.
Q0R POl DOSTEIe T DIVOSTE SOOI VGV Lae &S
. SHO0CIVA.
1.
Molecules of different gases have the same ‘Average Kinetic Energy’ at a given
temperature.
S 3G TPOSNHL WEDHLN 2u¥ B Y GAHL 56 &S "VT0 (i3eedS O QaHotrow.
2. %
Van der Waals interaction dominates over thermal energy at very low
temperature.
0 G S 0l 7S B3Iy Wiy RIS b WIS HUN0ING.
3.¢
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Collision of molecules are perfectly elastic.

WEDHL oG 20N SPEUTLD PO VB POED SOOI,

Question Number : 129 Question Id : 7196501729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the given disproportionation reaction,

0 Y H —= § 4305 + 81+

The numerical coefficients of I0; and CI” in the balanced equation are respectively

B OIS 03 (DS DORHIG)
ICI; +H,0 ==1, +10; +Cl" + H"

ehoerrg NS 103 HOOK CI o Hoars Heasren SERrF

Options :

Sand 9

5 0050 9
| %

3and I8

3 0605w 18
2. ®

3 and 20

3 6050 20
3.¢

18 and 20

18 603w 20
4. %

Question Number : 130 Question Id : 7196501730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

What 1s the mass percent of carbon in carbon monoxide?

FENP SFTYGE & FEN0 B530°8 Fo 0doth?

Options :

didd
1.

40.27
7 ®

42.85
3. ¢

68.35

4, ®

Question Number : 131 Question Id : 7196501731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs belongs to extensive property?

806 ZHOS o) 2309 DPE BB orS%0 DoBIBIIE.
Options :

Heat capacity and Temperature

&RQIOE 000N &I (IO

| ®
Internal energy and Pressure
2900¥ 35 3005 HSo

7 #
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Density and Volume

i}“oé@ 200N V0TI EIo
3 R

Mass and Enthalpy

53078 SO005N oy
4.9

Question Number : 132 Question Id : 7196501732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the reaction N, (g)+3H, (g) =——2NH, (g). the change 1n enthalpy 1s

AH = —92.38 kJ/mol. Choose the correct statement.

(1) Rise in temperature will result in low yield of ammonia at equilibrium by
shifting the equilibrium toward left.

(1)  Addition of inert argon gas. at constant volume will have no effect on

equilibrium.

N, (a°) +3H, (o°) =—=2NH, (),

SPODNS NGy ABE), ooy ety AH= —92.38 kJ/mol. DOGHS DadSeadd

FORCITSIA VAN

(1) VTS 3G GAHD VoS, SPODNS W03 eadd JDB (BETP $8g) 2200
S3PY VOSP GInE). GBND Sl.

(i) 8 SDOSTEo 56 WO Sold BUIPOIDD Wo°g WIXTEAE X0 WS,

SNTPRD &) LETSo Goleld.

¢l B

Options :
(1) 1s correct but (i1) 1s incorrect
(1) 008G T (il) POPL T

| ®
both (1) and (i1) are incorrect

(1) 000k (if) VTN =P
2. %

~

T
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both (1) and (i1) are correct

(1) soal (ii) V252
3.
(1) is incorrect but (i1) is correct
. (1) DBIE =20 =R (i) D38
4,

Question Number : 133 Question Id : 7196501733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For the given equlibrium reaction,

+
CH.COOH+HC1 —=CH,COOH,+ CI"

The equilibrium constant is 3.9x10™" at 398 K. Choose the correct set of conjugate

acid base pairs, respectively

BAYS HSOTRD 5

+
CH,COOH + HCl — CH,COOH,+ CI’

50398 K o565 Re0&8PRe Q0%e80 3.9 X 107°, se02303¢0 s0-F00 23S SR EONS DO

DD
Options :

+
(CH3COOH, HCI) and (CH,COOH, , CI)

(CH3COOH, HCl) 003w (CHaCOE)H;_,  CEY

e

(CH3;COOH, CI™) and (CH,COOH, , HC)

+

(CH;COOH, CI") &00% (CH,COOH, , HCI)
2.8

(CH,COOH, . HCI) and (CH;COOH, CI")

(CH,COOH, , HCI) 06050 (CH:COOH, CI°)
3. %

~

T
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-
(HCI, CI") and (CH3:COOH, CH;COOH,)

+
(HCL, CI") £0akw (CH3COOH. CH,COOH,)

4. v

Question Number : 134 Question Id : 7196501734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Permanent hardness of water, due to the presence of MgSO,. can be removed by

(1) Washing soda
(1) Calgon’s method
(1) Boiling

(iv)  Table salt

MgSO, SO ¥6 e 5203585, e5"ONR TPEIID DD?

(1) PO V@
(1) 5P VD
(i) o000

(iv) Forde &)
Options :
(1). (11) and (111)
(1), (11) S00CSw (111)

(1) and (11) only
(1) 2SO0 (ii) Sorghadd
2. ¢
(1) and (111) only
(1) 000k (iii) e
3 &®
(1) and (111) only

(i) S000% (jii) &Srghedd
4 R

~

T
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Question Number : 135 Question Id : 7196501735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the followimg options are true with reference to the below statements?

(1) First 1onization energy of the alkali metal 1s lower than the alkaline earth metal
m the same period.

(1)  Second 1onization energy of the alkali metal 1s higher than that of the alkaline
earth metals 1n the same period.

(111)  Ionization energy remains constant in the same period.

& 808 TEgINOES’ HOGOS TR ool

(1) =0 SR 3006E3 ©0NAEGE 45 0 HOODNE 'R T6 HYdE ST §T°) By P
SITAVAY

(i) =0 ST Oolisd WODIEGE 38 D LOONE SR T6 SHYBE S0 ¥T°) W0y P
&olol.

(1) 2% HOONG &' ONAETEs 45 TolP Gollold.

Options :

(1) and (i11) only

(1) SH00Kw (iil) SIS
1. %

(1) and (111) only

(1) SO0 (iil) SPS
7 ®

(1) and (11) only

(1) S000%0 (ii) &gy
3.

(1). (11) and (111)

(i). (ii) So00%w (iii)

Question Number : 136 Question Id : 7196501736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

With reference to diborane ( B,H, ), identify the correct statement

GeSOn (B,Hg ) 620) 085 argadged oded) §'ols
Options :

There 1s direct boron — boron bond

BSOSO DB3X woldo aolold

1%
The structure is similar to that of C,H,
C,Hg 00783030 ErOadotnedd
7 &
The boron atoms are linked through hydrogen bridges
2SO DESTEDHLN TPOG e WPIT° SR GotIPOW
3.¢
It 1s a planar molecule
QR VoDBL BEDY)
4. %

Question Number : 137 Question Id : 7196501737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

CF41s a gas, CCly 1s a liquud, CB1y4 and Cl, are solids at room temperature. The highest

bond enthalpy 1s observed in

(50 &I 5 CF4 20i0ad), CCly ¢aSo, CBrg 200050 Cly €0 DSHTTPen. Sold PRS
ﬁ@%} QDDGP@Q oS’ Golobd?

Options :

C-1I

~

T
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7. %

c-Cl
3. =

C-F
4.9

Question Number : 138 Question Id : 7196501738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s wrong?

800 DAPEBIS” 6 DOTIG T,

Options :

Ozone hole 1s thinning of ozone layer present in stratosphere

8eS"S Golo OITP F9eTSeaotS’ 8uas"S & S

| ®
Ozone can oxidise sulphur dioxide present in the atmosphere to sulphur trioxide
888 PTPIGES &), DUN0 GUFYE B VOO Gyus & P e8yEdeie WHOSNSD
2 R
Ozone 1s not responsible for greenhouse effect
IO Ky Darado (HR TR Do) I8 8ued’® 57680 520
3.¢
Ozone 1s produced in the upper stratosphere by the action of UV rays on the
oxygen molecules
P9 S500S” @8y%(02) wtHoR UV H88ere S0y weo® 868D Nl A0
4. %

Question Number : 139 Question Id : 7196501739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The IUPAC name of the following compound 1s

&8 800 BSGS D300 0, TUPAC s

/j/q CL/CI

2.3-Diethyl butanoyl chloride

Options :

2.3-G800 angdS'ons §06
| *
3—Methyl-2—ethyl pentanoyl chloride
3— PO 28BS JoldSONS $°0G
7R
2—Ethyl-3—methyl pentanoyl chloride
2— 9BO —3— PO VoS OO §0G
3. ¢
1-Ox0—1—chloro—2—ethyl-3—methyl pentane
1-68°y-1-§'62— 335 —3— 0PSO Ho
4. %

Question Number : 140 Question Id : 7196501740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The major product of the following reactions 1s

800 38365" 90%a(R80 S IS GBI 0 DO?

(i) HBr, (C¢HsCO),0,, A

Styrene >
28 .
& (11) Na, dry ether
FE S5
Options :
Sh
| ®
CH,

_
* L/

Question Number : 141 Question Id : 7196501741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The major product of the following reactions 1s

800 58565" OREP DENE GBS0 .

(1) Os
(ll) Zn, H,O

>

CHs (i) NaBH,

(1v) conc. H,SO,4, 413 K
e

Options :
OH
CH,
CH;
|. ®
O
2.
QCHa
3. %
QCH;
4. %

Question Number : 142 Question Id : 7196501742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The closest distance between the two atoms in a FCC lattice, in terms of edge length

!Ht iS

oSV 'a' (08 DO a) 0o, FCC gru¥otS 23 Dot HESTEDHO SVATEIS
SrSo

Options :
a
1] ®
a
J2
2
J3
——
2
3. %
\F
—
2
4 %

Question Number : 143 Question Id : 7196501743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Latent heat of vaporization for a liquid solvent 1s 500 cal/g. If the boiling pointis T, K.

the value of K, of the solvent in K kg mol™ is

2 SIS Tk, BPRYESSS BoRFGoe 500 SFLOLI/T. &8 Y w0 arlyEsFSe T, K
©wond & grded K, deud K kg mol™ &

Options :

4% 0% L°
. ¢
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2. %

1 % 0T
3w

PR R
4. R

Question Number : 144 Question Id : 7196501744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A mixture of 250 ml of A and 250 ml of B shows positive deviation from i1deality. A
second mixture of 250 ml of A and 250 ml of C shows negative deviation from ideality.

Which of the following statements 1s true?

250 ml A 0050 250 ml B o3 Q0o eid) HI6S Sols STB1E SOT),
DC5032008. Botsss St 250 ml A 500050 250 ml C x5y DSBS Sobs WYY
DIOTRY, D000, §o& ToUES’ HBSE 6.

Options :

Volume of (A+B) > Volumeof (A+C)
(A+B) $0:50055°880 > (A+C) H0-50085°e0

Volume of (A+B) < Volumeof(A+C)

(A+B) 205200655730 < (A+C) 205005750

Volume of (A+B) = Volumeof (A+C)

(A+B) 050085850 = (A+C) $0-55055e80

~

T
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Volume of (A+B) > 500mland (A+C) > 500ml

(A+B) 08508780 > 500ml 0050 (A+C) Lo896s580 > 500ml

Question Number : 145 Question Id : 7196501745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1| Wrong Marks : 0

At 298 K. the EMF of the given cell 1s
Zne) | ZnSO4 (0.1M) || ZnSO4 (IM) | Zngs

298 K &3¢ 805 @S5G H0ve 03y, EMF

Zngs) | ZnSOs (0.1M) || ZnSOs (1IM) | Zng)

Options :
+0.03V

. ¢

—003V
7 ®

— 006V
3. %

1.00V
4 %

Question Number : 146 Question Id : 7196501746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The rate constant of a reaction is given by log k=5 — — + 3 log T. What will be the

2
i
value of E, at 227 °C? (E, 1s activation energy)

Given R =2 cal mol'K™

2
505 o8, 8w yomeSe log k= 5 — = + 3 log T. 227°C $& Ea 908 Soife.

(Ea- 6@e5¥8) R =2 cal mol'K™

Options :

2 keal / mol
| ®

3 keal / mol
2.

4 keal / mol
3. %

5 keal / mol
4 %

Question Number : 147 Question Id : 7196501747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2 grams of charcoal 1s placed in a 100 mL of 0.05 M acid. After the adsorption, molarity
of the acid decreases to 0.04 M. Surface area of charcoal 5 x 10> m? g—*. The surface

. g | - ® . o
area 1 m- of charcoal which adsorbs one acid molecule 1s

(Given molecular weight of the acid =70 g mol™ )

100 mL © 0.05 M &308558 2 PSne PGS SO0, b8t St o
gy, Irerodd 0.04 M % 030, &S i), adote Jwvge 5 X 107 m* gL &
&35 WEY) WOT ol S WS, GHOSL JFuge m(X? ) &

(w0 CINE), ©@everde =70 g mol ™)

Options :

~

T
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1.66 x 107"

. ¥

833 » 107"
2. %

1.66 x 107
3 ®

233 % 107
4 %

Question Number : 148 Question Id : 7196501748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Mond’s process. nickel carbonyl decomposes at

oS0t DRSS’ SS 526G N3O DD Wl G

-

Options :

~80°C
| ®

~180°C
2.

~280°C
3 R

~380°C
4 B

Question Number : 149 Question Id : 7196501749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Bent T—shaped interhalogen compound 1s

SoiS T8y SO, WoBEH S aS D0ySo

Options :

CIF;
1. ¢

ICI1
7R

CIF;
3. %

IF;
4 %

Question Number : 150 Question 1d : 7196501750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among (1) XeO,, (1) XeOF, and (111) XeF,, those having same number of lone pairs

on Xe are?

(1) XeO,, (i1) XeOF, 00w (ii1) XeF;, 0" Xe o a8 éa&.}g@"‘ 2000 2308 o)e.agﬂjé
Mo é&ij&@’eo*w

Options :

(1) and (11) only

(1) SO0k (ii) e
| ®

(1) and (i11) only

(1) 000w (iii) oegsadd

®

g}

(1) and (111) only
(i1) OO (iii) So°gad

s

Lad

~

T
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(i), (ii) and (iii)
(i), (ii) 0% (i)

4.

Question Number : 151 Question Id : 7196501751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The pair having similar magnetic moment 1s

%S eaoi:ﬁn&oe.’s waa“éjé SISOV BN ée;’JnS )
Options :

Ti**and V**
Ti** o0k V3

Cr’" and Mn*"

Cr** 50050 Mn**

7w
Mn?* and Fe**
Mn2* 56050 Fe*
3. ¢
Fe?" and Mn?*
Fe’t 2506050 Mn**
4. %

Question Number : 152 Question Id : 7196501752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The 1onization 1somer of [Cr(HEO ), C1(NO, )]CI 1S

| Cr(H,0), C1(NO, ) |C1 i), e0afdsdes F&ydso

Options :

| Cr(H,0),(NO,)|cl,
1, %

| Cr(H,0),CL, |(NO,)
2

| Cr(H,0), C1(ONO)CT |

3 R

| Cr(H,0),CL(NO,) [H,0
4, %

Question Number : 153 Question Id : 7196501753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a polymer, there are 300 molecules of molecular weight 100, 200 molecules of
molecular weight 1000 and 100 molecules of molecular weight 10000. The number

average molecular weight of polymer 1s

28 PO6e5°, 100 eesrdo 505 300 eenaden, 1000 eeerdo $OS 200 ©e0a9)en
300050 10000 etazrdo 3OS 100 @enadHen GI°) 0w, & OO Gl it Doty e
Q503

Options :

1050

~

T
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6050

2 %

9400
R

2050
4.

Question Number : 154 Question Id : 7196501754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Starch undergoes hydrolysis when boiled with dilute sulphuric acid at 393 K and under

a pressure gives
393 K &S S$H0050 o 8563, Q“St)cﬁo ROS DL)308 Wahoed” JEIVIED oS
RODFNE Wold 2 91T L BN EETON?

Options :

Glucose and Fructose

gpﬂé"‘ 25 0005w ‘Q§° 25
| %
Sucrose and Maltose
0$7E8 200050 &'D'“t’;‘ %
Glucose only
QPS“" 25 ﬁ?@&b
3.V
Sucrose and Fructose
0828 200050 ‘Q? 2
4. %

Question Number : 155 Question Id : 7196501755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

Choose the wrong statement from the following
< go& S DO 03°§3‘J8r53 o)rﬁal? ole

Options :

Sodmm hydrogen carbonate 1s an antacid

VGO0 TG R 570 ) 2l & DO (©lr&)

| ®
Aluminium and magnesium hydroxides mixture acts as an antacid
LA OO ) RO TSI QFDED 2 & DTG (9olPVE)
2, %
The drug cimetidine (Tegamet) prevents the imteraction of histamine with
receptors of stomach wall
Ra30EIG(E36530E0) @S oth 2805 (TELS fi [PIPsPURS” SPR® 2300 WO
OGBS
7 %
Metal hydroxides increase the pH of stomach above neutrality.
ST TEES YW 2885 o pH D005 S pH e $3°) Houde®ow
4.

Question Number : 156 Question Id : 7196501756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following involves two nucleophilic substitution reactions?

808 TS Bothd SPg8AIrHOS HAZDE SEFOES” PTG 2

Options :
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e (i) Br,, CS,, 273 K

>
(11) NaOH (aq)(ese)

(iii) CH,I

Br (i) NaOH (aq)cee)
>

(ii) H,O
(iii) Na
(iv) CH,I

2 v

(i) HCHO
(ii) H;0
>

CgHsMgBr
(111) Na
(1v) CH;l

(i) NaBH,

CeHsCOCH; (1) HzO
(iii) Na
(iv) CHlI

Question Number : 157 Question Id : 7196501757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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The major product in the following 1s

808 T3S 9B GBS 0 WO?
(205)
HI (excess)
>
373 K
Options
>CQH/\
I
| ®
>CI/\
OH
>QI/\
I
3.

Question Number : 158 Question Id : 7196501758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The major products P and Q i the following reactions, are

S0l NG30S" OE &B1T®) 0 P K005 Q O Bk,

H
Options :
P
OH
'HO
1. ®
p
O
CHO
2. "
P
8]
HO
3. ¢

(se)
(i) PCC (iii) NaOH (aq), A
— 2 > Q
(i) H;0
Q
CO,H
QJ\\/CHO
Q
CO,H
QICHO
Q
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O OH

w LY

Question Number : 159 Question Id : 7196501759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The major product of the following reactions i1s
806> S0’ OE GBS 0 8.

(1) PCls
CO,H >

Options :
U\ OH

L
: CHO
2. ¢
CHO
& cl
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Cl

Question Number : 160 Question Id : 7196501760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which one among the followings 1s most basic?

808 TR egHE 8 D3 S0 SIS 6.

Options :

NH,
CF,
1, ®
NH,
CCl,
2.
NH,
CcCl
3,
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NH,

CE,
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